g e d- sy ¢ 400 Peweys Feaytet T EEEETITTTTEIS (i@ 1HVE GiiUwels. i

B . i Al Fntries with Blie av Biaai = -

B O R CPS - 2

BUuESHh 30 elamsse o_drarar. ojeneuggl GNGTEEEHS

L@gh-1 / PARTI
G GuibLn@ wppIb SHIGEN
CHILD DEVELOPMENT AND PEDAGOGY

@t eflanL-u1aflEs GougnRib.

There are 30 questions in all in this Part. All questions arc compulsory.

1.

sHGUMT BGsms Qaran®) udral Aeudsald Gaiddl HIGTUZHID DI@ILIGUBISEOETL)
uélfeugid @aser LwemLM_T@th :

(A)  efenaray ol B) LWpd af

C) Apwss a9d) (D) wwet@FEra 6ilf)

School experiences and activities must be arranged in such a way that learners

may have some degree of confidence and success in their work is an application
of :

(A) The law of effect (B) The law of exercise
(C) The law of readiness (D) The law of disuse

pPTEA L gD (pFeemLWTE Bl QUDTE CFLIMD SBELIITETD HTERTE :
(A)  seellrior Bhgso (B) uUmenes LNSH0

C) Gub®s T@bs bLEs® (D) Cuss sppa

Identify the action that is not caused primarily by maturation.

(A) Swimming of tadpole (B) Flying of birds

(C) Walking of a infant (D) Learning to talk

BT eurenplililpGens Ll upflw yoear srid A@ueasmsl QuneusHS
aureplupsdar 2 (hausmsub e aniéflsmens DararL &TL8 2 amriemelw|d
Revensgll uriés wnél telieug QsHE e-srramomE@L :

(A) smédwe Csrump (B) eugeuanoliys Camlum®

(C) pLsagliiud Gamur( (D) Qeweur’ s Casriur®

When we report the perception experiences of a banana, we try to combine visual
sensation with feelings and with images is an example of :

(A) Idealism (B) Structuralism

(C) Behaviourism (D) Functionalism
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CPS -2
4 BHDG cuanaredlen, swflea sremLILGLD. SpEsaTQIDDIET 6TH 24
D{Da :

(A erpg aaGampppld GOWNE STDLD.

(B) wmanss Coums@pé@h FLOLTET seuanld uhEIGLILIGEDS).

() udw eperperws Lfpg Camerar (PigLTS Hlenc.

(D) Qumpsswrer Ufasmer aUpBIEGLSI-

In the learning curve, pleateaus are found. Of the following which is not related

to this : :
(A) period of no progress.
(B) equal attention is given to all tasks.

(C) inability to understand a new method.

(D) Providing suitable incentives.

5. Heoarele @mean CuTgl, B paramed HEGD HBHEEIGH OMHILD
ramahisEsLa QUIEBSIUsHE sraLCursdd ugliLgwrs Biemissuubi.
(A) GnEE6 (B) &seu(® Samzay
(C) HAengeyser (D) GNSLB B&s

can happen when memories become progressively reconstructed over
time to fit in with our pre-existing concepts and ideas.

(A) Interference (B) Trace decay
(C) Distortions (D) Decoding
6. wdpsAller WBgworer BHleve e @HuGLlu@eigy Sjawd
Blenaudlenamuid BOQITTMEULLD CUPEIGUSTE ADEDS).
(A)  whe-GumrmAwm (B) wiGsmSwm
(C) Sigmflumr (D) WeoGumflum

The milder status of happiness referred as lead to a sense of well-being
and relaxation.

(A) Euphorbia (B) Eutrophia
(C) Anuria (D) Euphoria
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10.

e Lsrld smmea )
PO stpeflenwé smipsg 10D

(A)  Sraid (B) <Si@uaubd
(C). DEUE LY (D) &S GRH®
[nsightful learning does not depend upon the factor,
(A) Aspiration (B) Experience
(C) Intelligence (D) Learning Situation
sdT, BL5605

“""_""”(’?_'f" cilad s Fmesp iy as QaTareans raTUS! gafl puir uense
whpd ___ smreflaCarn@® Qgriy Qararauset QeareurgLd.
(A)  o_ewrieyLyTeulomrs (B) &eo&iD

(C) @ypHlene (D) oL offurs

In Bandura’s Triadic Reciprocal Causation Model, behaviour is the result of

interaction among personal characteristics, behaviour and factors.
(A) emotional (B) social
(C) . environmental (D) physical

WPYPBIGTD 2HNSD AVVE CuirLert smspri wldoaiea sra SaTe]

(HIGTL_QIEGD FIOBSEHEGD Qe L Gprw)
(A) 0.03 @by (B) 0.02 @mmig (C) 0.01 @mmg

-Jerk or pattellar tendon reflex

(D) 0.04 Qpmg

The latent time (Period between S-R) of the Knee
being only :

(A) 0.03 second (B) 0.02 second (C) 0.01 second (D) 0.04 second

TRl (HEELD LDTERTEU T8 (@& EUTEHUSDES
S GGPDD HGLO- '
(B) @l (®Qurss uerafl

LGOS G\ 7 & & 6 61 & 6N 6T i Gs
Grrgirev 2004 BLSMS
(A) Hpuiy udrafl

() uerefléE@ SLLMPULL

overy by Rogers, 2004 is a
avioural problems.

(B) whole school
(D) at home

(D) eSLiged

Behaviour Rec approach for dealing with
students who have beh

(A) special school
(C) out of school
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11, 1Q -allelt jhlenayininpit gebien il el [lifh w11
anfieiflghlels il (AL

(.‘\, G\Mlbéij‘gmnm('h‘h J"‘“”" |
(] el it st 1

I
(B)  copgult e o ailanl |

(C)  ired eI el a1 145 .ml{”"-““'“';'“ |
(D) e et iiabimall gt inglii N L T hlemif

Which statement supporta (e fuel vl papalaney ol 107
(A)  Special tralning piven eintly 10 T g 1)
(B)  Actual petformance iy vitky Wil saperienes

(C) Mental ape increnses with ehiunologlenl e

(D) Iew boys blossom Inte ad aeldeve Tt

iy il i3

10 1l (1t T 0 ALt 4

aalit, gy madln i mlllu;ﬂhmmall'llufu (i ;
. ol lﬁ:m;h/ulu,uw‘nmmh ALY ,"thl

12.
wll Ml

aumpeihasran GotbLIN® (i Gl il (PR
GGG afalfggm.

(A)  aredloGlLig @miraid; (1) entray Chippandiois

(1) e guptrediadslon
Gt devetaprentil faska of Tk
Lty prowi

(C)  <pebLirt Liatorn Gy

_ described the ability (o perform ve
that an individual must learn i order (o achieve

(A) Elizabeth Hurlock (1) Coarl Hoperns
(C) Albert Bandura (1) Kobert Havighrsl

13. ‘euerirad)’ eramp amidhangdi@, jpdaeint - alitbdl T R R
(A)  Qampser@pdth oiloinn e
(B) o.La erenl. |Haininge
(C)  apdirdd) oremi by 1ANadiL (b bl ddlng
(D)  erea)smailed Wimmdigily 1y
Which of the following sentences s tol velaled (o the term prowth’ ¥
(A) Expansion in vocabulary
(B) Increase in weight

(C) It continues after maturity fn allained
(D) It changes in quantitative aspect
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14.

~ 16.

TiT & &]
‘5 &led) 85!D!DQS]GD US]GEQ.ILD Caeneuwmang) 13 ?
(A) S-R EDMmed

(B)
(C)

§“ﬂ§>§>@ﬂu.1rrecr Qg)rrLl'qu;mcﬂ Qaliwésaigs Fmeno
ALTOSDT Caipupss s

(D) ng_rrasmrra; @&)Wg,g,w

Identify the phrase that is pivotal for chain learning.
(A)  S-R learning

(B) Capable of performing individual links

(C) Discrimination of objects

(D) Connecting in a sequence

e CulLirger jereyCamaild Qmuug :

14 gienemr e @seT (B) 13 gienear i@ @ser
16 glenamt 2je@&6r (D) 15 gionent S GEET
The Pinter Patterson scale has :
- (A) 14 subsets (B) 13 subsets

(C) 16 subsets (D) 15 subsets

THS @ HeamenThley ey wElman 2 (Heurssng) ?
(A) eumiQumf mereTdle] ey i

(B) Qewddmer Hiamanmdley Fay S

(C) ww eareyGare miaTenTdley FFey gLy

(D) erewr FMHS miaandley ey gl

CcrPs ~ 2

Aewss memanhe| redlenar uu.ia'rru@(a}gmb Qevgnafler Cairay Nenaupeueareunmer

The Wechsler test which uses a deviation IQ does not produce which one of the

IQ score given below ?

(A) Verbal IQ score

(B) Performance IQ score
(C) Full-scale IQ score
(D) Numerical IQ score

R S ————
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17.

18.

19,

20.

. e

’ P r'r'
Lt wmemaunEaT 2iHleunThs

@aLflow wimh ewifond :
- ’ Pawns Gysss FLTZ-

@uarenio Blanarss, Gememnd) 2
(B) @swgpie phUc Blaona
(D) spEEwD o

s with intellectuzl disability may 1

(A) yeallwsss flaw
ever move

(C) wmuQummer Hlenm

Middle and High school student
beyond the level of .

(B) Pre-operational

(A) Sensorimotor
(D) Formal operational

(C) Concrete operational

spelzd SO g BT SPEE wopg Curdpgl.

(A) 56% (B) 60% (C) 66% (D) 86%
is forgotten after one day of learning.
(A) 56% (B) 60% (C) 66% (D) 86%
BAerauds afissafien oeor saps aarisédls Qararesuda safl waflger

silwrer LHMD Seupren 2 emiae FHUBSZADTE.
(B) Bleran IX (C) Bea V (D) Blewe VII

(A) Hlene 111
in Erikson’s stages

An individual develops sense of right and wrong at
of Psycho Social Development.

(A) Stage III (B) Stage IX (C) Stage V (D) Stage VII

pama&ELILLTDS QBUUEHETS HHpazana sagien w QupGnrismer erhs
Caarafiyb Calsmod, AemhCusams CaApren. Camduis apmitiLg eTHe eueTiEs
Blenaulley 2yeuen G)méslemmren ?

(A) OUfCwryd flenay 2 (B) uflGwme fea 1

(C) wmrbuly uésdnh Hera 3 (D) umpbufw 2Wss6ErEN Heow 4

Krishnan obeys his parents unquestionably because he wants to avoid punishment

As per Kohlberg, which stage of moral development does he fitin ?
(A) Premoral stage 2 (B) Premoral stage 1
e
(C) Conventional morality stage 3 (D) Conventional morality étage‘ 4

i
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Al

220 b amgbenmen et Qawrdi Qealldy w1l mdH@D Gramrg
Gl b et Eidla) Qi e gajaig)
(A)  Blaney woadheay anadiblynih
(13)  Nlemad wadljha| aranyaama
(€)Mt aradi gl aragsama
(D) Chnbidlebt arandit yined Lavabdlymb
While participanta are engaged in taaks their brain activity is recorded by :
(A)  Position emitting tangram
(13)  Ponitron emission tomography
()  Programmed electron tomography
(D) Positive electron tangram

23, oflaami «gpdimblaeu Aida wed Quudumn_geaild Hemwps ‘Caupudssse’
dperflanaan Goibe 1Bl 1D 6 b G faspead Qgmyreang Wwesswsgieud
OIDWOIGG ?
(A)  pand@neigne (B)  Sieur_e
(C)  GIwmimaD (D) Qigiapli-®
Which one of the following sequence of events is not crucial to the development of
Dincrimination’ in the operant learning process ?
(A) Motivation (B)  Stimulus
(C) Response (D) Reinforcement

D

[ — ‘ B - .

- ."" )\" .“l"“"ﬂ VUTERY STRVETS U9F BARRVENT AIRN 7 e

cp8 ~ 2

LT 0

Milebter i st hid o gy w40, 61 60 1) e
\H'II ‘IIN\\‘M [»\\\;;\h.““l“ \

g et i L) IeATapenps

(A) s\ i IRAN G aed) (1) Jop, gt ler gy | arré | Cammad

() manirabiig G e () (hoenadi Gargénéat
Which among the follawing doen not come ander l,,.njm:tlw: tent of personality
MECUECTITIH T

(A) - Clay modelling (1Y) Arthur's Point Senle

() Hrondi Tont () Monnic Tenl

gjauismeflen apeners
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24.

25.

26.

27.

A O N O

QAsev_di Quéerfien wapwuras smelsmear auigamdsdlgID Wl
Qurl@uidiignd apsdw uksTHHADS!.
(B) wafls @uiiGwe

(C) CrCear QupQued (D) Wer QuinNwied
method of Gustav Fechner has found much use in apparatus design

(4) wver Qupud

and human engineering.
(A) Psycho Physics (B)
(C) Nano Physics (D)

Human Physics
Electro Physics

Ceaaflar gy @ aesiur’ iy ‘aalgrs eaflfgoamGeuri wHYID ‘ereflpna
snEnPssdansEn’ o Eowsg el ul L amsilaemy Weareumb ahg (b
wCamplaawliar S umslLPSgOTD ?

(A) CsmQafs (B) Uef&Guoys  (C) Queersrals (D) ambi@udlen

In Galen’s classification, the Irritable’ and ‘Easily Provoked’ type of personality
was classified under which one of the following temperament ?

(A) Choleric (B) Phlegmatic (C) Melancholic (D) Sanguine

Sefly wer 255580 2 drer CrrwrafléE 70-150 Geurel Wenemrsens Senaudlé
Qeiszb dféms wea :

(A) e Ls Hflsans (B)
(C) e enwowr &ldlFens (D) Wenmermhu@GLiy HlsFens

A procedure used in the treatment of severe depression in which an electric
current of 70-150 Volts is briefly administered to a patient’s head :

(A) Electro crystal therapy (B) Electro catalytic therapy
(C) Electro centric therapy (D) Electro convulsive therapy

Wler eflenamu sl Sflsens

Epsasam ellam eumssalled rg @Lwmad mausg oL sar® 9y sEn
Sl tiueL e @Qeene ? |

(A) GamglL @ mgeer Blylys (B) ueeyer GCsirey

(D) sflwren @enemrenis sam(BH Gy

(C) &fl/ seum

Which of the following test items is not based on recognition ?
(A) Fill up the blanks (B) Multiple choice question
(C) True/False (D) Match the items

[}
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TEACHERS RECRUITMENT BOARD, CHENNAI - 600 006
Teacher Eligibility Test - (TNTET - 2019) - Paper Il

~ .. Fill All Entries with Blue or Black Ball Point Pen Only. Gel Pens/Pencils are not allowed.

LT =

28. $O GEMLUT e Ligm seflay DTS :

29.

30.

(A) Gergenangsenenio (B) u@sshaj@mL®L
(C) &m&sSHemanin (D) p&Hwsgaud »
Which is not a characteristics of a theory ?

(A) TestabiliFy (B) Rationality

(C) Parsimony (D) Significance

ariane-aréen Qewadner Corgaman GCsrsmanemw 6l Sganorag) :
(A)  SHCesavram it GuiLfl Cargemer

(B) =isi srsiereyGamed

(C) Qufld-urewr Carganen

(D) QWerl e - umlL irger GCargenar

The Cornell-Coxe performance test are more difficult than those of the :
-(A) Alexander’s Battery Test

(B) Arthur’s Point Scale

(C) Merril-Palmer Series

(D) Pintner Paterson Series

@Cr urfemaiuile sauangde QsrareriuLL QumrpaTsefien or e entl &6 &6 w
GHuug)

a) uyfsd eiéa (B) Hlenenay eS&s

(C) 555 DUGED (D) werand GlEuse

he one refers to the number of things perceived in a single movement of

T
attention :

(A) Apprehension span (B) Memory span

(C) Retention (D) Recitation

[ Turn Over
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ugd - I
Sl

QUUEHD 30 Aarrssar o drarar. semangsl Alanmrds@sd@n allaiuallds GaiduHib,

31. @@ Qewyeligiarer SrsaarCur eygsaartur Qurgar s auiddde ahp aesuild
SIDLFHE Asran@sd WOPES oy Quiwai,
d) @EQuui  (B) cprla € apa@nd (D) QurgaCsrdr

32. sV 'm0’ aulles srsssErear Ceipd urrod ApQHQWIEPSEISEH L6
LLHCW Ceipg QUHL QWQWIEPSHISET
o B 9 © o O) &

33. QumBAsHramt pLssrs Qs wrs ?
(A) Qse&rQumf (B) smuQum@  (C) sWRALE (D) sApHen

34. Qufluyrrer Qupes sridd wroe Sasar  swwrisalgrGL
urpCHTHL ?
(A) &Lbu FbL  (B) rFWLIWL (C) QOpevenan (D) sWS

35. QeupmieT qeatm O sflwurarg :
(A) wé&lor - sTHHd WSEGSL <pDHHO
(B) a&flor - scusvpwenpwpm Nfpg LL®D < Hod
4(C) T FSgleud - T eNumIsSHHEEd <pHoD
(D) smoreusmigeud - embIGUmS Wi&@ED <pHDO

36. @Qeerss (et I (QErds samaru B
ESEGTOYID SMDES QL. - @HD imwpgirer il erg ?
(A) Qg Cwrfsd el (B) Geaupmienw siexfl
(C) 2 euemd jemfl ‘ (D) spEMUCUDHH el

37. UEBUS 2 MLILGET Mid eu(HD QFme :
(A) 2arsf®b (B) yeampGsmd (C) ysedSi (D) pLpgeren
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41.

42.

43.

44.

sflwmrer QUTHSSFMBS oD :

AR AR A AT

Glemev QuITmET
(A)  feop . Leauass@h UWEUGLD BisCoEHD
(B) @&wLib - o @sl® PrEGsssw
) Qoed - GassuulL Guilw Birflena
(D) smoued . o euinar fosda Caram iu@d Siblow®

Qurpsswreag @& :

A) epperQueL - GLsLE
Qeiiyellens arQUEL - STBBISD
Qeanafleans Ser@QuenL - 2 1PTS|T
Qaraefans eTQuenL - 2 (HLILIGM-LD

(B) @nperQuerL. - SJEIBISD

Qayefiens er@uerL - 2 (HLILGM2 LD
Qanaflang sjerCluemL - 2 LTSI
Qsrialens SieTQuaL - F4SER)

(C) @nhmarQuenL. - 2 (HUuge b
Qeiyeflens sjerCluemL - 2 pTT
Qenaflens SIETALIL - ST
Qeriallans SerQuaL - G450

(D) epmerGluenL - SFRIGGLD
Qeliwellens jerCluenL. - 2 LpryT
Qeanaflens er@uenL - 2 HUugme b

Qeréellens sieLDL - Gig55E)

Samenwwled sarLpuiull grredl Gwrflseller QL bQuprs BOS

Srrefl_Glomgdl ?
(A) er(mBQT (B) a&sumr (C) GCemplam

‘usasatler Hmps L, LGS U, erang Qememameur :
(A) &aSlantl ‘ - (B) pmosse selleh
(C) sLpsEs6mMmeD (D)  urGeumsir
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TEACHERS RECRUITMENT BOARD, CHENNAI - 600 606

Touchar Pligibility Test - (THTET - 2019) - Paper I e

et it Al Entrlos with Blue or Blnck Ball Polnt Pen on-ly. l.i‘,_g!fcgmilpenclls are not allowed.

10O O cPs - 2

46, ‘ool Glpaufl - OF)

46.

47'

48.

49,

500

51.

52.

15
' ' 2 A ’ 9N
: @ ‘) GrentLIgy aronm VD
A)  DGGG T ?
(A) AT Qa@dmin oo, (1) w2

(C)  @®atim_ama (D) ~sicpafsempid

I 1] - ; ,r'. (.:l e - -' |~6",T
@urayrs Gampenianeid @O G AR 107, aronufls wiangf)” aauz
QUITEHET Wwiirgy ? ' "

(A)  aralli (B) e (C) wap (D) &L

QuiTaeT “LoHGLINT' w Ganeinib eremp B G -
(A) - mBlpd Qe

(B)  aneudsid ey
(€) Gpdlw s

(D) Yyl Assed

" B GG G| GrOT 1T 6 @)darrgaitses LsgID

@arrag Guranmn' erepai,

(A)  srhHwigser (B) 2iphlw Qorbsprat
(€)  Hpeudr@yauir (D) umyfprsen

geumBpreg Gudlafar g Aflwir wiri ?

(A)  wulGamitb pemse (B)  @wy@@mUrT
(C) wulGamitd GLEmLDITET (D) zbuwanar Cahlaapiss

LerrraSluded gl ergl ?

(A) sridupe  B) L VS (C) Hwenamiiuren (D) sepewdley

rpGuIrgeD, peaflenp QuiiPHigd, sals@daopean @pm euliafledn @r’Hw,
2 L @Gd e uliaby appd du aflamsds yaribs erd :

A) oupsdyp  (B) Qapflio (C) poormL (D) Guemi

gauprall QuIEBHE@BLUDSS CoirpRsHEsa D
(A) 106 + DIED - Qo wpe 2 u9\ir

(B) Aol + i@ - 2-udir @par GLow

(C) @i + RS - Gl apen 2 udliv

(D) ogid + Henar - Gowl per @uou
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CPS - 2
&6 & & Mw &m0
SH. gpmws, dpligh BaEE. GHed - b e &@HE S
auflensliuBSgis. . .
(B) &TEHS, ST, 80, GHMPE

(A)  sTwm, sTEHE, DD, EGHTRD .
' 58, D&
(C) =, @mpa, smurm, snesdl (D) Fmw, @Tpe, e

craueuensLl QUWITTS S MwuriL@S el ?

54. ‘aTBsH GEHET W6 eranig)
(A) yewrumd Guwir (B) Q@uaitumD Quuwrr |
(C) @mwumd Quuwir (D) wr@sr@m urss GuWT

EpsraTuareupmer ‘@eapss’ upHlw gaperns CoIT&

55.
UL (& Qedayb Gummer 2SS SP&s LD

(A)
(B) @ilupsmars Csmem® 2 (HeuT&HLILIHLD
2 ALQurmEGerr® GrfllenLd GamLiGeans GO QumberT

(©)
eflenar, LG, euigeutd, Hipld 2pHlw Hrendlen Slig el GCoremmio

(D)

56. “mBmEpd Elpentouid
BlBCaMTEE @edame
@muipmié Flpeniouid
QueansEré@ @)aama”
-@uiygissailanguier 2 Afwr wri ?
(A) @rrgfad (B) Wrlé urgnssndren

eaGaued, Aumflwenn, 2iflu ycmanio, Brem jeue - sflwurer (peppeanaulivy Qg s,
(A)  efloyd uwyssd, 2 Ne@srdOPTL, 2-bemwgdmreams, alllenaors O\ prens,
(B) 2M&@empCpri, Ghluyl QuwQrisn, 6l an 615 0 5 ren s, 2L G0 & Ten
(C) 2-auwemy, 2bowitsnms, damami@sros, @il QuULGTFsD

(D) 2MsGemp@pmi, eilanengCmiens, @i QuWQydad, o lbeniog6mirans

57.
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(A)
(13)

(D)

amiiapen G
SMLApEst (feny
(C)  aafapes Heny

oI (penGyir

O Qumrmgpluu_Hererg ?
Qoucindir Qeueior_ener
BenyQuirenmpr HRwsgener
el euEhSlGsemner
CpQyrenprflflwssenar

59.
(A)  eumpss PATIT
UITTdHs enLwien
. poinaki
WwasGer g
(B) eumps glip
LTSS 6mLIwI6h
@y Seioremi v
waGer S
(C) aumps SOl
Wy p::3 snLIWIGn
@\ ewrenir
&Ger
(D) eumps SO
UMT&HS 6nLILIeor
Gy Hemtantit
w&GersH S

60. seupren Qeenews CHiey Qews
(A) 2l + 2uqiT - L + <3|(Hed (B)

(C) 2uQi + 2.udli - Qgenenen + D (D)
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PART-III
ENGLISH

There are 30 questions in this Part. All the questions are compulsory.

61. If you heat ice, it melts. The conditional clause.hcrc is :
(A) First (B) Second (C) Third (D) Zcro

62. Pick out the one used as an example for a.run-on sentence. '
(A) Ashwin loved visiting Kanyakumari Santhi preferred just to stay at home in
Sattur.
(B) How are you, Velu ?
(C) Hamlet, speak no more!
(D) Add two 5’s and four 2’s.

63. Match the Phrasal Verbs under Column A with their meanings under Column B.

A B
Phrases Meanings
(a) break down (i) end a relationship 3
(b) break into (ii) to escape from someone’s grip,
(c) break away (iii) stop working ,
(d) break up (iv) break and enter illegaly ¢/

Code :

(@) (b) (c) (d)
(A) (1) (v) (1) (1)
(B) (iv) (i) (i) (i)
(C) (i) (v) (1) (i)
(D) (v) (i) () (1) -

64. In Litotes, an affirmative is conveyed by negation of the opposite, the effect being
to suggest a strong expression by means of a weaker. It is the opposite of

Ex : The man is no fool.
(A) Synecdoche (B) Metonymy (C) Hyperbole (D) Pun

65. Choose the correct American English word for ‘tap’ :
(A) Fall (B) Wallet (C) Faucet (D) Cookie

66. Pick out the Idiom which does not match with its meaning.

Idioms Meanings
(A) To be at logger heads - To disagree strongly
(B) To be on cloud nine - To be extremely happy
(C) To give a piece of one’s mind - To behave in an unnatural way

]

(D) To be at the end of one’s tether To have no power or patience

A
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67. Edward Lear’s ‘T
he Duck and the Kangaroo’ is a humorous poem of a kind known

68.

69.

70.

71.

72.

73.

. (b) In a beautiful style (1)

as

(A) Blank verse o Lizexitd
(C) Nonsense vers imerick
Se verse : (D) Octave

Write the_ opposite of the following :
The rabbit was eventually caught.

A) inci
(A) incidentally (B) spectacularly (C) initially (D) uneventful

The word ‘Vendetta’ is borrowed from the language

(A) Italian (B) Spanish (C) Sanskrit (D) Latin
I\Lame the poetic device used in “Murmuring of innumerable bees”.

(C) pun (B) hyperbole

(C) irony (D) onomatopoeia

Match t:116 ac.ijective /adverb/ noun phrases under Column A with their kinds under

B and identify the correct match.
Column A

(a) A boy with blue eyes

Column B
(i) Adverb phrase
Noun phrase
(iii) Adjective phrase

(c) To do such a thing
Noun phrase

(d) Living in dark stables (iv)
Code :
(a) (b) (e) (d)
(A) () (@) (@) (i)
(B) (i) (i) (i) ()
(C) (i) (v) (1) (i)
(D) (i) () () (i)
Find the incorrect sentence :
(A) The queen bee, with her workers preside over the hive.

(B) Pinky, Lilly and Sheela go to the same school.

(C) Either of the two boys has done this.
(D) You, who are my friend, should not blame me.

Read the words in B

air.
’ British English American English
(A) Pedlar = Peddler
(B) Visualise 5 Visualize
(C) Center - Centre
(D) Honour - Honor

[ Turn Over
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7.

7,

76,

77.

78.

79.

80.

810

82.

W0 000 0 O

The alliterated words are -

(C) ran, moon (D) ran, 25, MOG

"“We run s If to meet the moon”,
(A)  ran, meet (13)  meet, moon

The word ‘Park’ jy o
(A)  Heterophone
(C)  Homophone

(£5) Heteronym
“), ”’(lm(}‘,;aph

O Henry was the ‘nom de plume’ ', R s M -
(A) William DBlake () William Slihakcﬂp;drx;;r
(C)  Willinm Wordsworth () William Sydney Fo

In which state the ‘Hornbill” festival is celebrated ? Nagaland
(A] Went Bengal (B) Assam (C) Maharashtra (D) Nagalan

Poetry written in iambic penta meters that do not rhyme 18

(A)  Free verne (B) Blank verse

(C) Nonsense verne (D) Full verse

What in the meaning of the word ‘Opulence’ ?
(A)  happincss (B) brightness (C) weakness (D) richness

Match the Adjectives with their appropriate kinds of Adjectives given below :

Adjectives Kinds of Adjectives
(n) such (i) Adjective of Quality
(b) 'Tew (ii) Adjective of Quantity
(¢) new (iii) Adjective of Number
()  much (iv) Demonstrative Adjective
Code :

(a) (b) (c) (d)
(A) (i) (iv) (i) (i)
(B) (iv) (iii) (1)  (ii)
(C) (iii) (iv) (i) (i)
(D) (iv) (i) (i) (i)

Leslie Norris was a prize winning poet.
(A) Irish (B) Welsh (C) Scottish (D) American

A series of short detached sounds is called S —
(A) Limerick (B) Staccato " " (C) Octave (D) Sestet
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83.

84.

85.

86.

87.

88.

89.

90.

Choose the correct meaning of the phrasal verb “come dowm with” ¢
(A)

to climb (B) to contract illness
(C) to meet D) to -

A canner can can anything that he can can. But he can't can a can, can he ?
Read this tongue twister and pick out the meaning of the underlined ‘one.

(A) A person who preserves things in containers for sale
(B) Process of preserving

(C) A container
(D) Sense of ability

Which part of the given sentence has an error ?
Little effort has been done to solve the problem.
(4) B) (C) (D)
(A) Little effort (B) has been done (C) to solve (D) the problem

“I hated every minute of training but I said, Don’t quit. Suffer now and live the
rest of your life as a champion.”

These are the words of ;
(A) Mary Kom (B) Mithali Raj
(C) Mohammad Ali (D) Milka Singh

The prose piece “Living Amicably” is an excerpt taken from :
(A) Wings of Fire (B) My Experiments with Truth
(C) Das Kapital (D) Unbreakable

The word ‘geode’ should be pronounced as :
(A) je-ode (B) ge-ode (C) gi-ode (D) ji-ode

Among the clover - scented grass among the new-mown hay,
What is the meaning of the word new-mown ?

(A) Recently cut (B) Recently ploughed
(C) Recently watered (D) Recently sowed

Choose an option with an improper structure :

(A) The old man walks his dog daily.

(B) She had always been short and fat and slightly bent.
(C) The war has been going on for two years now.

(D) Jim may be able to help, mayn’t he ?
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91.

92.

93.

LiEnghl-TV / I'ART-;VA
Qfla)-A / SECTION:

ST SCIENCE

; . ” ATICS AND

SIS WhHID S|NeNwied / MATHEM o
Qwaj;@'l'n efant_wiail g Couar Gy,

l ompulsory.

' ' © i
L : eremléd [ -eor GUFSHD
FER SR - iy fly = 1- I\ erear are s A DL

: , (D) (=, 1]
Al R (B) (1, =) ) Jot of [is :
let f: RS R be defined by f(x)= 1|, ‘thcn the range (D) (=, 1]
(A) R (B) |1, =) € (=1 =
6+66+666+.. . . @I Qg mrfléd apge n &@uu&aﬂm TRGI T
= n 1)
3 [10(10" - _. 2 [HeHD™ ~4) _ }
(-\) Snz 5 -¥ — n] (B) Sn— 5— [ 9 n
- n
2 [10(10M - _ 1 |[10Q0" =1} &
(C) S,= 3 _(\9—)] (D) Su= 3 \:—_3_— "

Find the sum of n terms of the series 6 +66+666 +.........

- 3 plO(lO“ - [) - 2 lo(lon - 1) ~
O S et n] ®) So=2 {T -

= g -10(10"1 - l)] 1 [10(10“ - 1) _ 2}
(C) S, g [ (D) S,= o e

£5608l5580 smis :
(A) melslib 10.83%
(C) Qerub 9.83%

percentage. at ¥ 190 each. Find the profit or loss
(A) Loss 10.83% ' (B)

Profi
(C) Profit 9.83% B ofit 10.83%,

Loss 9,839,
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94. @M FGETTEED EOOLITYE Gy nrena 3 : 00 106 credlen, 1 wanf) 5 PO EIEEHEES

95.

96.

97.

Yo B wearell Db e aperaflpel @)en o p_eirert (epnenorih eraoeor ?

(A) 120° (B) 90° " (C) 92.5° (D) 95.2°

If a clock shows 3 : 00 P.M, now, what will be the angle between minute hand and
the hour hand after an hour and five minutes ?

() 120° ®) 90 (© 925 Bt e

gar  urseflurdgydr o pishloo g1 o Hudl et QuIrpg  emaueL&HeT
Quméswean_aifldama :

(A) Qv MAssan Qprdadr G)mingnd

(B) eraugevsafld @O&d Lyshisedr @)U

(C) emauyen @BGanmbaer QUEmESLE®LAIBDEG

(D) Yemrevdl ‘DNA’ encugedlesr DNA -anal Qawicdp&Had QaeugTeD

Why new phage particles did not produce in bacteria during Lysogenic cycle ?
(A) Presence of Restriction Enzymes

(B) Presence of Repressor proteins in phage

(C) To Multiplication of phage genome

(D) Plasmid DNA deactivates phage genome

02 —3x—1=0 erénm swEUT lga ApEISHET o WHHID B erafléo o? +p2 -am UL
wng ?

4 13 13

13 (B) 3 2

If « and B are the roots of the equation 2x%2—3x—1=0, then find the value of
202 :

a+p-.

(4) (C) 13 (D)

A == (B) & (C) 13 (D) —

égé&ml_wg')gér gl mECETDTET Ul eupres saHor@BLd
(A) e srai Caiis@sse safio wHpd poy wphEipg.
B) Ao sramsaild cuarirEflepws 2and@ellsEng).

(C) =iepeu 2.W9T 2 grugeTns Qawdu@Edanpar.

(D) wan i H 5555 urkig Qumidlenpen.
Which of the following is wrong about Mycorrhizae ?

(A) The minerals and water provided by fungus in roots. d
(B) They induce growth in some plants,
(C) They act as biofertilizers. '
(D) They are used in Soil reclamation.
[ Turn Over
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W

e, So & Q¥ MENIESSETL R

100, Quiradarndip syl dflan o

A

\:\‘;\.\1 -\..\ﬁ W “\‘w\\\ \ S
W \\\ N -\\\ \ ‘\‘1“ .

W . Vo)

1o o R L LA (1) 0 coneel

v vl (1) 2 uind
(N2 e (1) WeoR
atiate
W ) S
S I TR\ L
PR LA { 0 conecl

£\ 9 0 1
A2 s ) 2 eosd () 4w )

. \ - f oo (Guomenir
i \::“\“ l\\\\"\b\““m ) ol (.nn\].!mn)gl. (l e ol e

Ao =4 ’
AW )10 () 8 (D) 7
e number of males of 82 R of He s (molar masy ol He =<p)

A W ) 10 () 5 (D) 7

s aype SGp ofapdpy. S UG ur@mer 3
) DY@ L HEID By L gHlan ey loeer ? (ST DI G0 1oL

QWY RTTR W Qe
» 3 \ )

uadaaids) @=98 ms )

(A) 401 m (3 4Ll m (C)

W the object is dropped from the top of o building and it re
¢~ ds, then the height of the building is @ (ignoring air resistance) (g=9.8 ms

(A) 401 m (B) 441 m (€C) 46,4 m (D) 434 m

404 m (D) 43.4 m

aches the ground at

101, @ et & em oy, S rdsUIGLITIY 3 WIkiE 2w Qsrear. 45

sy Qngal CUA LSO @y GNITNLL SI16T6|6TeT DL enl. LIeenden L
Qarar® gwnflsdpu. Qs @jara] O@LUumsmu QETard 2 cm &, FEpD
0.5 cm 2 wrEnd QETQTL. QUL QUILTSHHILGT Fnlqlll 2 (HEN6T GUIg6eU SneHLGET
TESQORT SaIrTd sunhds @b ?
(A) 30 (B) 75 (C) 225 (D) 10
A .
Rahul has made 45 conical pen stands, of same size, with the radius of each is
being S em and their hei 3 A |
R ¢ heights are /7 e i ii i
g ¢ 3 times their radii, by using some amount of

cardboard. How man

. Y pen stands can he make b i

; S, O Ay pen ‘ Yy using same amount o
‘:t\"::\‘c‘sl?;\p(. of c‘\-hﬁndcn with base, if the radius and the height of eachf caflfxz;ara(i
standiis 2 em and 6.5 em respectively ? (In both the types top is open) - ’

(A) 30
(B) 75 ©) 225 D) 10"
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,.zﬁ X T T y ' s =
TR PR DT walld oL o@D L WSS s&NHls

(A} Blemvainii e G sy (B) (e &L ST
) AR L (G5 : " 0 LR .
(V) WG R b ey D) Qe ACLTOSET
] ong { P ; . N L ‘
he differont form of cell organelle from the following :
l.'\l { H_\’u\,\‘mnmnﬂ (n) Mi,;.“,hodic\‘
() Hphaerosomes D) Ccﬁtriolcs

PO g eI S e nhpih e A L en o GTaTa. SteUS MBS R
Nay Hod UHDS TRUUSDHSTET

et IR v e wr (00 e Hapsmsa) @
saflan eTaTeRilEnS :

ilanieatiledt epebn) 1 mien srafld wpauudgidrar o Hpo Ubs)

o) . (H) 10 (C) 25 (D) 15

;\m“”:? “"'::‘:;:::‘;*' 5'. red l\t}'ll:a and some blue balls. If the probability of drawing a blue

baile e diag: b ‘:h it thrice that of drawing n red ball, then find the number of blue
W

(A) 20 () 10 (C) 25 (D) 15

LA, A Gl et o’ (e amdduiiseild (A - D) SQPIET Sape Garpels®.
(A)  hleont Bl @nemmba colara) Lyadhong Qaran@Erang.
(1) Gloathnr hleoanBi @gpiscir minatlaatld Oeradnm) ;ﬂméseﬂélmm.
() Bleoorfi e bl dddannnti Qg QurEHLseT QEraTLgl
(D) hleantffii gpcn e Pyand
Qindy the fonr statements (A = D) given below and select the incorrect one out of

(hem,
(A)  Lymph containg less protein
(1) Large lymph vesaels are finally opened into artery

() Lymph earries absorbed [l
(D) Lymph i tissae fludd

TOB, gomy Glashisaim ailgal (pmi"1ab 90 . e ppid 75 8. @s@wrSaD o_Gireng).
. ol 1 L ’ . = _ . .
el 1 emfh B (B, copmanhled GBIt heng sl <oi@nssiLH DS erafld LI us eor

g gt GdamdAGh Al TR,

(D) 6750 QamdGii

00 m long and 75 m broad, A path § m ,
. O m wid 1t

ifind tha area of the path in hectare, ¢ 18 to be built
(1) 0.085 hectare

(D) 6750 hectare

(A) 0675 f;.lo;,m):i.‘ﬁl N
“” (), 150 lu]f)]ﬂ)?}a(:‘:l I

A rectangilar garden 14
imilaide anil arovnd 1t

(A) 00675 fyestare
(1) 0.860 heelare

’ ¥
’ | Turn Over
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+2H, 0y ; . (b 2, B a5 Rt
106. CHy(g) +202() ~ COZ‘;’O a ;Lgéyllsg;czggm rhapp@ Coaaiidr 2 %
@) éswanuim g6 4 i
Loerr : 23 D) 100 Gs.&”
:\(),D 25 Qeaf® (B) 50 Q.8 &) 7SR =
.
3 of

— €Oy +2H20) ded to burn completely 50 e’

CHy(y) +207y) of oxygen nee

From this equation the volume
methane is : , —
(A) 25cm? (B) S0 cm® (C) 75cm (D)

107. §) v &gl an ol & p_drer &ML Qedrsearrd @aEGeisEmns Qe G)uswnsg,
STFEuTLD
(A) RUBISCO wppith NADP wanapL-GrrgGanen B)dvena
(B) RUBISCO Loppitd NAD mmgml_(zrmﬁ@mcm 2 (H)

(C) RUBP wpgib FAD Géea
(D) PEP wppib ADP @)dena

Guard cells of leaf stomata cannot Photosynthesis because :
(A) Absence of RUBISCO and NADP dchydrogenasc

(B) Presence of RUBISCO and NAD dehydrogenase

(C) Absence of RUBP and FAD

(D) Absence of PEP and ADP

108. &pisan_apflo abs Garan b eansaflar Geaar srsflwiorang ?

(A) n=0,1=1, m=2 (B) n=1,1=0, m=0
(C) n=0,1=0, m=1 (D) n=1,1=1, m=0
Which of the following set of Quantum number is possible ?
(A) n=0,1=1, m=2 (B) n=1,1=0, m=0
(C) n=0,1=0, m=1 (D) n=1,1=1, m=0

109. 1, 2, 3, 4, 5 @pflweupPlen L L elevdsid 2 '
y 4, b 2 erafléb 51, 52, 53, 54 Dile
ofleovds euirds syrref ereamug) : il

A) 2 (B) - 4. (C) 2 (D) 50+ .2
If the standard deviation of
. of 1,2,3,4,5is 3, what is the variance of 51, 52, 53,
(A) 2
V2 (B) 4 (C) 2 (D) 50+ 3
D
f\/
p (‘V
5 /fV /Vb 7
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110. Gyt (545 | B T A ),

/, 7 /’
A BTGt gy (4
2t € an{,lé;ﬂ;jti; A

(A) 2650 N
: ’, }' () a0 () 2540 (D) 2560
Nnan nas Sayved ? ¢ ¢
18 saved T 64() during the first month, 7 720 in the second month and

27200 in the thir
L 77 : third mompy If } ‘ ; : p .
g R . i ¢ . his savinys & seque what will
bee his ssvings in the o ity {f’"!lmu,.«. his savings in this sequence,

2650 M A
(A) 2650 (525 24050 (C) 2540 (D) 2560

M gA1 T T I0, G gl il T BO0 -1 CallEBlpmiT.

100 15, T§ ’ ' 7 |
VAL (), Gt e wilhanmdid i, 25 ~eugy T
DM Chas 14, “IaY,

111 G)iids a8y kmsi's i 14 YO - e ~—4—‘» i@ x + 10,
Jsh Bitis, ey a7y ST Y IC] :

24280, \BHIID 7 4440,

W) {2+ 22, 2 ~ 2./5) 8 a4 2f3, 3~ 2/3)
€ {-24 2/3, ~2 - 2/3) (D) -2+ 243, -2 - 23]

2 4 '
s e 35 e hiere x + 120, x +2#0 and
x+1 x42 x+4

7z 4410 using quadratic formula is :

Solution for the equation

A) {24 23, 2~ 2/3) (B) {2+ 23, 3 - 243}
(C) -3+ 2J3, ~3 - 23] (D) {-2+ 243, -2 - 23}

A A —————

12,17 4 J12 4 N2 b o= ?

i 3 B 4 (€ 6 (D) 6-65 sifmi0ns
R :T—f::f:‘-:“'q::j ) )
N2+ 124 124 .. =7

w AT e © 6 (D) greater than 6

113.9, () wipgop R o Lrdilmafian -osmf Dpnamasar peopGu (6, -1), (1, 3)
PR % ool (. \dy ‘a’ ~@)ear Wwhllienud srests, :
whgh (a, #), Coghd PO QR arafld 9) 4

4 (B) 5, ~1 <) 4, -1 (D) 4, -3

(A) 5, = e :
/f’ y =@ ¢ 5’ such that pQ = QR where P, Q and R are the points whose
Find the value 0 "ﬂ 1, (1, ) and (4, B) respectively

coordinates are (0 .
;:;rdmn ’ 2 B) 5 -1 C) 4, -1 (D) 4, -3
’ F’t =&

[ Turn Over

https://www.freshersnow.com Scan n Ed by Cam S canner



-

oPs- 2 4 A O 0 0

114, 2 sSvan ABES 1 udso i LdGaim e Lipihimedr et Ay,
AN L b Ao Lgpiimenirdd n1” (ib B ) gly gy,
AT 3 Quipedswing sallin sallsmanen Gpindad) 11 v WAL,
Al 2 aSveowna SRS WwDHEID anygeartd @ eior b aif). sy 2_sdorenins, AT,
STIEQ DS
S ONTOWLE s S oM pa@d snywond aflrar afloris AP,
o TS srES oHID S @asti)ib saupm.
SEaxD srrevaptd O @G 2 6vuren 1o GG Sryomn FMwnrs

~

SEdQ

T

O
S Q

Assertion : In fruit stall, many types of fruits are present,  But fruit flies are
atracted by certain type of fruits.

Reason Fruit flies are attracted towards fruit that are naturally ripened,
A} Doth Assertion and Reason are true. Reason is the correct cxplanation of
Assertion.

3)  Assertion is true but reason is false.
\C! Roth Assertion and Reason is [alse.
D) Doth Assertion and Reason are true but re

ason is not correct explanation of
Assertion. :

115. P =x"+x+2 wém @

QOUG LOYIMLILE Cararel x -oiFams QeuPib Lereflsafien

&
Al 1 B) 2 (C) o (D) 3
<3¢ number of points that the quadratic polynomial x2 + x4 2 intersects the x-axis

A 1 (B) 2 (C) 0 (D) 3

116.=pmi1: Tom AavssaflQud o drer Qurgpersamemu b Hmvenw mULmoe

SO Ao Qsrdve g,

=001 2 : o &Gy Carada Quasa gpaid R Qummenemu b, QURGIHET pLpeILD
LHIDTH QurGeeTDd LTS Quigtb.
{A)

{C)

2
e
B) QrEFERL zaug
1
1

Statement 1 : Rabbit can sce all the objects around it without turning its head:

Statement 2 : Rat can see wo objects simultaneously one through its left eye
and other through its right eye.

{4 Both are correct

(3] Both are not correct

{C} 1 correct and 2 is not correct

(D] 1 is not correct and 2 is correct
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AIFAN b=
{apor

TR FYY G TO GAINME
( INBTRUCTION e Guatlion

voraaiilly ahade

TR ROR

(170 TUREIES

A6 &

(@) Nmo megay ()
(b)) LoD (i)
(¢) vy (iii)
(d) el (iv)
(8) (b) (c) (q)
(A) () (i) (iv) (id)
(B) (i) (1) (iv) (i)
(€) (iv) (i) (i) (iii)
(D) (i) (1) () (iv)
Match :
Type
(a) . Solid Foam (i)
(b) Emulsion (i1)
(c) Foam (i)
d) Gel (iv)
(a) (b) (e) (d)
(A) (i) (i) (iv) (i)
(B) (i) (i) (v) (i)
© (v) (i) @ Gid
(D) (i) () @) W

(A) 1 (B) 2
The number of Dative bonds
(A) 1 (B) 2

<es s jpation choose tha correct option and

Sorlal Coto othorwiso your
shac

Jastean It ranplotaly without LOUE

jo the rolovant clrcle,

45

QICET XY WG
b
&I
LUTQTenL_&&L 1g.

STON Heoy

Example
Cream
Cork
Cheese

Froths of air

) 3
(€ 3

https://www.freshersnow.com

OMR AnswOT ST

hing \he noxt

once darkened, chang@s «ai= 1m=e s

He0 selQananliysafiern cramanflsans :

circlo as gven holow:
~ /N Y
CPS -2
(D) 4
(D) 4
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P o P »
55 ZNEy T s,
£ s '/a ‘:‘, —_7):'{“’0% =
119.100 -é@l.b 300 -égzb @a‘m.@u 14 ~ LA WELD
(W5 eraman 7

(L 1414
i 21z Ly L4914
e S8 (B) 4116 (Cy 121 : o
100 znd 200 1zt zre Ciaite =,
at is the sum of all natural numbers between 100 22
14 2 3
j 1212 (D) 1414
(A) 2842 (B) 4116 (C} 1218
i & ; 550525 2000 £ 27554 2fGrr
120. g SACeusls Curt Suwreare syl 550mE5 300

S8Causls Cuni efiwrarzons Cat G i
Sy LS 26 GHLAlL yadlddois swsd

el . 55 Ceg24s Crarreaus: G =Tl Zomps
YapCuw 60° whmib 45° arefis 2155 Ceridia Grdr ras : ; e
: : . . o ) 2 Rani i ZITZHEE Sawis Lz
Y5 Curi eQwrens ZIwvapilng Bleorliuls si7iws r

(A) 12608 (B) 1268 % (C) 1264 & (D) 1222 .2
A jet fighter at a height of 2000 m from the ground passes directly over znori..

jet fighter at an instance when their angles of elevation from the szmne c'::sf——-',- 2:‘_(;:
point are 60° and 43¢ respectively. Find the distance of the first jet fichrter Srm

the second jet at that instant. (./3 = 1.732)

(A) 1260 m (B) 1268 m (C) 1264 m (D} 1222 m

121.@e1Qeumg ArevAseser Qprduwis DNA Wassmmn Gis 6)
(A)  Bensallen wenensafis
(B) Bsensae UESudle
©€) G5 GHA ﬁgéaﬁ@wrrenL@ aflensuds
(D) DNA -efigr nwIESle)

Each Restriction €nzyme cleaves g DNA

molecule only at :
(A) the ends of genes

(B) methyl groups
(C) specific nucleotide Sequence

(D) center of DNA molecule
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122. £pbsam. el eisde ag smgissmissd Comddan SAHEH Sida 2

123.

124.

(A) &0L Qrss Corens (B) @rés Hauliugmibaatien Slangay
(C) UWG&GDG‘S&US]UJW (D) werrertre eI&sD

Which one of the following is not the symptom of black water fever ?
(A) Severe anaemia (B) Destruction of Erythrocytes.
(C) Polycythemia (D) Enlargement of Spleen

sflurer geranps Coib@s® :

. "
P
7/3,‘..4

(A) (‘56”” D(HVE — SYERTENLD FIHATL GO — QapenCGe euenaray — CszA
@Qm . g

(B) @emmomeray — QanarGe cuamera) — SI@T@®D SHEATL GRS — CssfzEn
G

(C) Ceafa@b Grd — QapeaGe aueeTa) — GETTIO(HAEY — SHEHTENLD S (BT
G |

(D) (GETTO(HAE —> ST HHETL GLPD — GeaféGh Gre — ©

GUENETEY

anenCGe

Choose the correct sequeﬂce.
Glomerulus — Proximal Convoluted Tubule (PCT) — Henle loop — Collecting

(A)

duct.
(B) Glomerulus — Henle loop — Proximal Convoluted Tubule — Collecting duct.
(C) Collecting duct — Henle loop — Glomerulus — Proximal Convoluted Tubule.
(D) Glomerulus — Proximal Convoluted Tubule - Collecting duct — Henle loop.

el eugefeorar @0 smlTé siGuler <7 35 @.15. @8 @m 57 auged
g erafled DIFEFTHEET LESSMSE ST :

auenarsaLILBSID
(B) 55 Q&.1b (C) 62 Q&8 (D) 70 Qz.8

(A) 50 Q&.8

A copper wire is in the form of a circle with radius 35 cm. It is bent into a square.
Determine the side of the square. :
(B) 55 cm ~(C) 62cm (D). 70 cm

(A) 50 cm
[ Turn Over

https://www.freshersnow.com Scan ned by Cam Scan n er

N



! INSTRUCTIONS TO CANDIDATE

L

125. SpLen z_Goonaimetlen adlu i s.lllc;ﬁ/¢.'i'f7nf"'l"""' I
(13) Moo=t = My

(1)) e My -t

CPS -2

(A) Mg > Ca > Na
(C) Ca> Mg > Na
The correct order of reactivily of tnelala fowiie
(A) Mg > Ca > Na (13) Mo = Cons Mg
(C) Ca> Mg > Na (1) Mo = Mg =t

leg watled Iy

. . Yy ALY 5 'u i /] ;“':Jl'%."”';;ll "-"""‘“’;'“ " ’51”
126.3x+6y+7=0 wimit Zx+ ky="b A1 CpiAGan sl Wiy

. - N [ > v = ”
A0 : w*e® . . ¥ (s y) ( 4)
D-" 3 ’//, B 9 ;
/b -
(A) +1 - (B) -1- () 2 () J

The value of k if the straight lines Sx | Oy 17 =0 apd Do 4 leyy= 5 e per e il
is :

|
(A) +1 (B) -1 =+ (D) 5

127. syenm Ceulsuglency 20°C -z G)ayiemti GUngy gpoy mt e B C e opsisn e el
2 amey 92°C -almisy) 88°C aveny 2 Kol gdlen ayailivasnt Ajgy) srafla 71700 ablayha|
69°C @eflireuenL i ereueuanay Gy ol (MBaIBA e ¥

(A) 48 eblenmig (B) 84 ahlaanny, (C) 24 alilanniny (D) A2 ahlsinin

A pan filled with hot food cools from 92°C (o B8°C in 2 minutes when the rommn
temperature is at 20°C. How long it will be tulken 1o cool from 717 1o oo

(A) 48 sec (B) 84 sec (C) 24 nec (D) A2 Hee

128.5wwiliy Bler gan (R) zani_is n 1hleh pemt et Gl flenemn (0 i 1
Geenu8er Genambniiu®Seanms), e Wpmenianien 10shment mallebi
eflésh

(A) n/R (B) n?:1 (C) 1:n? () 1’/n

When n resistors of equal resistances (R) are connected in sories o paratlel,
the ratio of effective resistance of geries and parallel s

(A) n/R (B) n?:] (C) 1:n? (D) W/n

i el b e M st N i bl i s
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129. QLTS5 5.

(8] 1Bswres gy &ML T

(b)  AACL ey ohO i

(c) HBobaedr

@ 2Oy wpg i

(e) B wdDID weirQamenGam,
(a) (®) (c) (d)‘ (e)

@A) © ™ ) @ @

B) i) (v () @ )

(C) (iv) (i) (i) () (i)

(D) (i) (v) (@) () (V)

Match :

(a) Sand and Camphor (i)

(b) Acetone and Water (i)

(c) Pigments (iii)

(d) Salt and Water (iv)

(e) Watex.' and Kerosene (V)

C(a) ) () (@ (e

@A) (v (v @) @ (iii)

(B) (i) (iv) (i1) (i) v

(C) (iv) (i) (i) v) ()

o) Gi) v @ @

https://www.freshersnow.com

49

(ii)
(iii)
(iv)

(v)

EMiFH agssd

7
cugmamndflens oy
A fyerd
Qenens smMUFA ain 359

ug;réu&mrrgé) o).

Distillation

Chromatography

Separating funnel

Fractional distillation

Sublimation

[ Turn Over
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c?s-2 00 VD000 0O O

3 T mall g eltetten
130. Ssrsurns Lt S0 g agyih

U
....... L
- “

"
\
l/,br)

“ (14 20 (c) 12 () H

i%}

Count the number of squares in the following ligure,

A] 16 (B) 20 (C) 12 (D) 8

131. 2 2sarm spmaild gamnen sapm ety ?

canpEsrasaseie gl Coumnny Gluadeyi,

B mroegd s snpdla fyrailufan e ganpbuird o o igh @mpupb.
‘c) zaipz snpdld Eynellufcn e aflmioneoned oo Ot conhlafld@b,

@) mrouzs Lis srpdla fyrdilullarn oeara) oiflanreanmd ome ) LT )
EnDUILD.

Wi

(A) la) wmb (b) (B) (b) whmh (¢) (C) (c) wpmib (d) (D) .(n) oI (d)
Which of the following statements are false ?
(z) In a rainy day sound travels faster, '
@) In a moist air the water vapour quantity is less and its dennity decreases.
(c] In a dry air the water vapour quantity is more and its density increases.

(d) In a moist air the water vapour quantity is more and its density decreases.

{Aj (a) and (b) (B) (b) and (c) (C) () and (d) (D) (n) and (d)
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. | ¢ps ~ 2
'nunmmmm‘mmm“m‘ = oot aredereatlbens, .

183. U Carawgflen ussmisar 10 crafld T UpeOL L L1bI8

36
5 . (B) 10 () 30 | (D)mlyw" -
If 2 polygon has 10 sides, then the number of diagonals of the o

‘ p) 35
= (B) 10 () 30 (=)

o i v “el 1D SINCZRL
133-:\Bi;CD and CD“EF mﬁ)@\b EA L AB GLD@JLD ABEF=55 ereflev X, 1) Z é

STRTS.
N o L
S 233
X D‘v/5§ \C.'( \‘p

] <> -‘y 4 ‘
B;’/[ ~ ?//:’

| i“ ‘ iF e W

» A v & e 0 « 54(‘0
(Al x=121°y=121°z=4%5 (B) x=123 y=123°2=49

[C) x=127y=127"z=3% (D). x= 125° y = 125" 2 =35

AB//CD and CDI|[EF also EA 1 AB. If ZBEF =55 find values of x, U and z.

, \

A CJ E
S
| //.'!y
B:x/ ‘
‘ : *
(A) x= 121° y= 121° »z=45° (B) x= 123° y = 123 8 545}
(C) x=127y=127"2 =35° (D) x=125"y=125°2=35

134. a7y WIS QurEBHSISDS

R g . : " CCursmeriiwnr
s rrar SLES srdal - W

(A @ml_'_@u_.mrrsmf_rﬂmrr L (F gisd) eloaa)
(B) @ml;@l_.rr&m'm'_rﬂ ur - Culflsa

{C) mmC_GL_trswdaTL‘_rﬂtuw - favQ@uiGeart

(D) smml.@L_rr&lrabTL'-lﬂquT - augSymon

Which is correctly matched - “Electron Transport System In Mitochondrla” 7

(A) Mitochondria - (F, particles) Inner membrane

(B) Mitochondria - Matrix
(C) Mitochondria - Cisternace
(D) Mitochondria - Stroma

| Tuen Over
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135.log2x+log4x+logmx =g arafléy x -em WAl :

(A) 4 (B) 2 (C) 1 (D) 0O

If 1°gzx+10g4x+log16x =%, then the value of x is :

8] = (B) 2 © 1 .

136. sreurgdlen Geurr -
@ Cpi afl§sTiumsey oy emre el yefll LY smiUeH56
(i) G Yeqrririy griuense| Z,amme erdii gaflFaniuamsay
(1ii)

(iv)

erdlim gefldemiuemseay apeamme Cﬁpr’r B grruengey

erélir Bir smirLseey oy ammed Crir gaflégriuensey

(A) (i) wODID (i) -1b &M (B) (i) wpmb (iii) - &
(C) (i) wpod (iv) seumy (D) (i) wHmD (iv) &
The root of the plant is :

(i)  Positively Phototropic but negatively geotropic

(ii) Positively geotropic but negatively phototropic

(iii) Negatively phototropic but positively hydrotropic

(iv) Negatively hydrotropic but positively phototropic

(A) (i) and (ii) are correct (B)
(C) (i) and (iv) are incorrect (D)

(ii) and (iii) are correct
(i) and (iv) are correct

137.10 8 gyib wHPDd Heoved 2 priteys Gamsib 0.64 QsramL gl
EMEMED R &H(HIE. 2i&aTaneuded Qe EMiTaeT A, B wHMID C wermGuws 5 ms—!
14 ms~! and 7 ms~! GeussHad Qg amen. Qeupmier erpsEsTiT QUL L Gl ué
srepauiledr CedgbGurg) spsd efl(pd ? (g=10 ms=2)
(A) & A (B)
(C) & C
A circular levelled road of radius

Three cars A, B and C are travelli
respectively. Which car will s

LOLDITENT GUL_L_@ulgeué

’

srT B

D) Geupger ergiayb Gdena

10 m having coefficient of static friction 0.64.
ng with speed 5 ms~!, 14 ms~! and 7 ms-?
kid when it moves in a circular level road ?

- (8=10 ms~?
(A) Car A | (B) Car B
(C) CarC

(D) None of these
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138.@(5 LMty Carencusefien 18.Gur.6u whmib B.Qur.w pepGW X+ 1 whpib
=1 Cogid @@ LogILE Caraes 3+ 1 cralld wH@ADTETNE SNsTs,

139.

140.

(A)

D=1 @) (@oyery (© @+DE-1 O @+

The GCD and LCM of two polynomials are x+ 1 and x®—1 respectively. If one of
the polynomials is 3+ 1, find the other.

(A)

Cohx-1) @) (@-nEs (© @+ D) @+

« LOMID B eraruiar 3x2-4x+1=0, erangyld FLUTLIGEN PDBIGET 6rarfle

2
% LD MiLD % SSweuperpn ppotisarrss CaTarL QHUIGE FOGTUT g6
SNDES.
(A) 9x%2+28x+3=0 (B) 9x?+28x—-3=0
(C) 9x2-28x+3=0 (D) 9x?2-28x—3=0

If @ and B are the roots of the equation 3x2—4x+1=0, form a quadratic equation

o [32
whose roots are F and —.

(4)

(C)

o
9x2+28x+3=0 (B) 9x%2+28x—3=0
9x2—-28x+3=0 (D) -9x2—28x—3=0

SemeRtic LHMID STHHD WP 15 THATTelLiy FHUBeusHETET HlUbSmaTsHET .

(a)
(b)
(c)

(d)

(A)

gaflwreng samatilalBig sthméE Qsoe Couam@Hbd

geflwrearg stHO®MHE samar(héE CQFde Geuamm@HLd

samaniiled LB CaramgSlar iy wryfleae Caransems ol A& @) (H&s
Ceuawt(HLd g |
samantitle) LGCaTamsSlen i wrpflow Caramrsams el GODUTS B)(H&S
Geuamr(HLD : :

(a) wpmid () (B) (b) wHDD (d) (C) (a) wPDID (d) (D) (b) PG (o)

Conditions to achieve total internal reflection between water and air -

(a)
(b)
(c)

(d)

(A)

Light must travel from water to air

Light must travel from air to water

The angle of incidence inside the water must be greater than that of the
critical angle

The angle of incidence inside the water must be leséer Bt Bt oF the
critical angle

(@) and (¢ (B) (Jand(d)  (C) (a)and (@) (D) (b)and (g

[ Turn Over
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141. 11 e x4 zm sonagdiar gy Wadian aig.an g AIATTEE QemmiL_en e G

L 106y

Ao el ! { (G 6! - N TR ’ . ¥

Quimgnggrgainl 1og dsrin . () o e-aer e.anain MLUGADS. 2 meneryG ey 2.1
4 em grafld wgnaanian aansaia)

(A) 38.5 cm? (1) 28,5 em? (C) 18.5 cm3 (D} 485 g3

A rectangular piece of paper 11 em x4 em is folded v\{ithout' overlapping to make 5
cylinder of height 4 cm. Then the volume of the ¢ylinder is :

(A) 38.5 cmd (B) 28,5 cm? (C) 18.5 cm3 (D) 48..5 cod

142.a, b, ¢, d wHYWL e erep EHMUNCILCL BBG UbG & QeuciGeugy B &are,
QB riiseL Ll _(ererer, (b, ©) wppib (d, ¢) oy G&n’.lq_aidT Blenay W esrefic oy
cllenaenius o_awrird e, QAT (0, b) HYID (c, €) @y Cemiq st Hana Bemafug
&euirdd) eflenaemw eaurirdlapear. Lijg ‘d’ Coirflenanr L ib QU D BHSTeD, s
‘a’ ng')nﬂ@éses Gauairig.L ulebrguyn.ib '

(A)  erdliv Wlebranin i (B)  Cpir gy L ib
(C)  WBlergur’ L iflenenio (D) Cupsamr SADIFFID FrEHwiid

Five balls marked a, b, ¢, d and ¢ are suspended using separate threads. The
pairs (b, c) and (d, ¢) show electrostatic repulsion, while the pairs (a, b) and (c, €
show electrostatic attraction. If the ball ‘d’ is positive, then the ball ‘a’ must be :

\oo\ (A) Negatively charged (B) Positively charged
\}} (C) Uncharged (D) Any of the above is possible

143.11 Qs.18, 12 Qs.18, 13 Qa.18, ... 24 Q&5 Aweupenn wapGu LéEs DTG ETTSE
QsrarL 14 sgriisefe Corgss Ly srers |

(A) 4015 #.Qs.8 (B) 4155 .Qs.8 (C) 4515 5.Qs.8 (D) 4005 &Qs..8

Find the total area of 14 squares whose sides are 11 ¢m, 12 cm, 13 cm,
respectively : '

(A) 4015 sq. cm (B) 4155 sq. cm (C) 4515 sq. cm (D) 4005 sq. cm

144, Henemned Qo GudGuirg 2 (HeUT@GLD eUTL&ser .
(i) NO, (i) O, (iii) O (iv) NO
A0 wC®D  (B) ) wpmd (@) (©) g LpOID (i) (D) () whmb [v)
Gases produced during lightning are S : |
(i) NO, (i) O, (iii) O, (iv) NO
(A) (i) alone (B) () and (i) () (i) and (i) (D) (i) and (iv)
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Ilil‘l‘ﬂ!!.llﬂﬂ ﬂl Lﬂﬂl(!ﬂ Il !]M! MRy 55 -

Bruilcormrey urr;,gle'r,a;l;,U@lb e pitisafler aflwirer @aamaws Coibos@m

A

((C; :JG;E‘L;L:@@L_‘@ . (B)  Rewrfic syinfaser - mienyuiyed
Choose the ,h—t Mo _ (D) @puid - Hpibraid

(A) Stomac}frm(:n;u., Wf?lCh are affected by plague.

(C)  Pancregag ‘"md ;_tcstmc (B) Lymph glands and Lungs
— — (D) Heart and Kidney

46.81p5 5 e S g
1 AL T, I el ed QU”@ﬁ)gﬁg @Giﬂmmg @ﬁf'f,'fxgﬁ@w’&@#b :

(A) uréiefu Guiefier Bhans - ST emeuran @reueTass
(B) .5‘5196?7 Wm&DuWqu.uJGSIG%T ghengs = lg- seTGLTED

©) EsgeusHm s - afnGUrAQTL L6y

(D) wmrrbufyy umsLILT  yWwaler gheng - &fﬂd\)LWLlﬁr@

Following one is not correct match :
Antony von Leeuwenhoek

0 (A) Father of Bacteriology -
(B) Father of Modern Taxonomy - de Candole
(C) Father of Medicine e Hippocrates
Aristotle -

(D) Father of Classical Taxonomy %

147. 5apm)| 1 : AevL 186 &HCoriHpid crarug @swHHnEd HeorrassEn e Cu

Qréssamg TDH5E Qso@id (LIS QTHs GRTUSEET Q&TaiTLg).

gnpml 2 : peruird sHCpropn aarug @suUsHHEGL o Leen G 2 oy
LOGRTL QBIGEHEGD QTEssms ThSsIE Qsdaib Gomis D,GLD.

(A) &mpmi 1 & QLETTE Sadm 2 Seum)

(B) &apmy 2 &l QT Sam 1 Sou)

(C) &apmy 1 HMID 2 Seum)

(D) &‘!DQJ 1 wHmid 2 &l :

p of vessels carrying

Statement 1 : Systematic circulation consists of closed loo
' blood between the heart and lungs.

Statement 2 : Pulmonary circulation is a circuit of vessels carrying blood between
heart and other parts of body systems.

Statement 1 right but 2 wrong

(A) _
(B) Statement 2 right but 1 wrong —
(C) Statement 1 and 2 are wrong
(D) Statement 1 and 2 are right

[ Turn Over
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148. Qsm@&ssuul L UL A (MbS x+Y+2z -R& SIS

3
b
N ',,)0 o
AN
.
(A) 250° (B) 340° (C) 360° (D) 270°
From the given figure find x+y+z.
X
9
Z
30°
™
? % o
(A) 250° (B) 340° (C) 360° (D) 270°

149. @ ueaefuler Queamseafied 1/5 ursepb, Yarsalle 1/4 urswd 12 WLEEES
G@peuns 2 aratant. Larafluldey Ludgib Qwrss wreanssiseflea eramaisans 1000
ey e Querraer 2/5 LTsD eratayb GaraTLTd 12 euwg WHMID ASHEG
DFEoran CULFIETET WTaTSETEaten cramantédens ereualarey
(A) 770 (B) 760 (C) 670 (D) 660
In a school 1/5t of girls. and 1/4t of the boys are under 12 years of age. If the
total strength of the school is 1000 and number of girls is 2/5™ of the total, what

is the strength of the school, who are 12 years or more of age ?

(A) 770 (B) 760 (C) 670 (D) 660

150. 1825 2 L 6 aThgé SPlL eramenantd Sl L (1P(P QUTGSLOTEGLD :
(A) 21 (B) 22 (C) 23 (D) 24
Find the least number, which must be added to 1825 to make it a perfect square.

a) 21 (B) 22 (C) 23 (D) 24

R—
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R0 O O O 7

u@H-1Iv / PART-IV
\9fley-B / SECTION-B
sepseliies Lin_rhiger / SOCIAL STUDIES

Lu@Sudled R oot 3 Sr(DL
gh ere@ﬁe 6060 ‘@S]G-UTWSSBSGTT D_Grena. Q|EnEISHS o EeHHEL0 efleom_waflge Caam®HIo.
‘60 questions in all in this Part. All questions arc compulsory.

o1. ?'Q;ALPGSBS@N.L@JH)QJ@ —— L
(B) . %ULWFUJ"."—“H (penmentLt mnuch(.‘f@mh)méndo Qe (H QBB
EC) 72._60 &6})‘5§>§T QUIBIG TEITE S 6ot ggmwm&o’ﬁ!ﬁlw@.
D) z'lglw m@@.)ml‘iﬂ@v 2L BlGarasEle Gyréldam Guimir
%Vllich ﬁffmfm gl WPED FEnENLD 2 (GrHBIT QU
(A) Warrer? I-;he _fOHO“_Hn,g statements is wrong ?
(B) Calcutta baStlngS mtrodu'ced Dual System.

ecame the capital of Bengal 1n VT

(C) . Rohilla war took place during the administration of Warren Hastings.
neral of Fort William.

(D) Warren Hastings was the first Governor Ge¢
92. ulligwed - I - uliqued - II o Lar Qurmss &G Qar@ssuuBHere
EPSGsmers Qaran® sflwrear eflen Gaip@50

el _DLDDS).
Gomaig BIG.

U iguiev - I uL_1gulev - II
(a) aprUum (i) mLemor®L Queir flenaw
(b)  QursEpesrGrr - (ii) OpTLbssTe LI LO(HSHIeLD
(c) &STElUBGET (iii) G&y
(d) QuwsirsmT (iv) 295 Hlavmbiger
GG

(a) (b) (c) (d)
(A) G(v) (@) @ @)
B) () @) @) (D)
© i) @) @) 6
o) () (@) (v 6

Match the List - I with List - II and choose the correct answer from the code given

below :

List - I List - II
(a) Harappa ; (i) Dancing girl statue
(b) Mohenjo Daro (ii) Early Dentistry
() Kalibangan (iii) Zebu
(d) Mehrgarh (iv) Ploughed fields
Code : .

(a) (b) (¢ (d)
@A) (v i) @ (ii)
@) () @) @) (i) s
(c) (i) () (i) (i) AR
(D) (i) () (iv) (i)

D
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Q3. T".‘&:\ X-: T “_\_\&\ ‘@r St (':2 J
(A) 1930 eveud 26 lB) !
3 26 (D) 1947

4.

(T} 1930 &
N

The tmi-colour flag was unfurled ©

{A) 1930 January 26

(C) 1930 January 20

(B) 19290

(D)

L L P, g
ShafsdeTu L

Ll wed - I uliguieo - I
(a) wvepulumiy (1)
S0y
B) sdwew (i) sepuat
{c) uad (iii) Yy OHMID
isgafisar
@ uvaizdSas (iv) Sisa
SER :
(a) (b) (e) (d)
(A @ @) @) @)
B) @) @) (@m (@)
{C) @ @) @) ()
@) v @) (1) (w)
March List - I with List - IT using code :
List - I List - II
{a) Rainfall
B) Sleet (ii)
(c)] Snow (111)
{d}] Dew (iv)
Code :
(@) () (e) (d)
(A) @ @ @) ()
(B) i) () (i) ()
(C) @ @) @) (i)
D) () (@) @) (i)

https://www.freshersnow.com

AR RO

r&Qams. HOUULL. BITET :
1929 wswurr 31
SpsauL 15

n the banks of river Ravi on :
December 31

1947 August 15

SUREE ulgu - I Y L igwed - I -ajL 6 GUTBSSIS.
Ll Qefasdr AL gSld 5 16, LSL.L@JS@
AesE S GuLD L

uldzsasans aflausl
Qewsdr B sramiu@L Sdlw

tzzaf@ar a9C L 0.5 W.BLL &S a@a;m

() Ice pellets less than 5 mm in diameter.

At below freezing point, fall as ice flakes.

Water droplets clinging to grass and leaves.
Water droplets of more than 0.5 mm in diameter.
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(S

s 125

e e

code given
Shooting Star
Natural Satellite

List-II
Dwarf Planet

In

(1)

(1)

{i1i) Moming Star
(iv)

ist - II using

(d)
(11)
(1)
{11)
(1)
March the List - I with
(d)
(i1)
(1)
(1)
(1)

)

{11)
(i)
(iv)
(i1)
]

(iii) (1)

(1) (1)

()
v
(c)

)
)

(11) (i)
(iv)

(b)
iv
(b)
(i) (1)
iv

Meteors
Ceres

Code :

) §

ist - I
Venus
Ganvmede
(i) (iv)
ifi)

() (1)
(11

(a)

(

{iv)

(A)
38)
{C)
(D)
(a)
(b
(c)
(d)
(A)
(B)
(C)
(D)
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. ~ : T E < aahaamantd € DEPL\  T T\ .
2AE RS OONES SDNHSN-E LA MarHmd T2 - sven

(A} o sweme GET SWTES Fras Rl

-~ “\
HEDTIR

@) Gsfu Saa@ S W
{Ci ﬁﬂ@ é?‘?--. \-\g@\&\k&m

(D) &= o:—.‘.._.\::: SEFR! o |
Which one of the following m< schod munimum amount rranater i T 2 lakh @
{A} Real Time Gross Qerglement Sysiem

] 1 E3 Dunds Transfer

99. @iSu =i aanurald ey SIS e
- S:‘"" -_— b LT — -~ \ \

zxaa’ usaSas &l SEEDS

{A) ©2 [B) &3 (C) o+ (D) o5

In which artcle, the Consdmuton provides for a Vice-President ?

{a) 82 (Bl ©3 (C) o4 (D) oS
100.2 vSfar Laraoy auaT ouhasT Tad) ATTSR_IOW a_@‘)mn\fwnu,lmfr ]

(a) Groam &l LTSI (B) E.O. ldsa

(C) BrioeR SDLWFD (D) LG. Sibwoar

Who coined the word ‘Biodiversity Hotspot’ ?

{A) Raymond F. Dasman (B) E.O. Wilson
(C) Norman Myers (D) LG. Simmon

101. 98 nas @pSwredan s Quras Csisd BLbS P( :

(A) 1920 (B) 1925 (C) 1930 (D) 1935
General Elections were held in British India in :
(A) 1920 (B) 1925 (C) 1930 (D) 1935

102.9pSwredd GST (Goods and Service Tax) BHEOLAPEPUILIOSSLILI L. BHIET :

(A) eure 12017 (B) seeufl 1 2017

(C) o 12017 (D) wmr& 12017

In India GST (Goods and Service Tax) became effective from :
(A) 1St April 2017 (B) 18t January 2017
(C) 1St July 2017 (D) 1%t March 2017

https://www.freshersnow.com
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103. &L Be 19q Sseriisaie GTEl QAN DL GTETIL

CPS - 2

& sLedle @eome :

(A)  Elyrenr HLE (B) DG STEV S

€ fl A e (D) vLmsi HLO

Which one of the following fishing banks is not in Atlantic Ocean ?
(A) The Grand bank (B) The Agulhas bank

(C) The Reed bank (D) The Dogger bank

104.5Cp Qsr@ssiLLL el @pSu Coflu sTRdrfler (pEe LIHTLGD (PSD
Sroraisamss Qaran® eubgseurr Wi ? '

(A) el&0 Bre Caliy (B) £ gUipenflu i

(C) Eeeurs Yerenar (D) rhesw BT

Who among the following moved the first resolution in the first se
Indian National Congress ? :

(A) Lakshmi Narasu Chetty (B) G. Subramanya Iyer
(C) Srinivasa Pillai (D) Rangaiya Naidu

ssion of the

' \
105. Qg6 QU(BRISL G 2 GTeT pLoLDTEr & ergl ?

(A) sreur s - (B) Qe srrsim'_aﬂér.éa%@

(C) wflwmesrm ST (D) sguiLImeD <&

Which is the deepest Trench in the Southerh Ocean ?

(A) Java trench (B) South sandwich trench

(C) Mariana trench (D) Japan trench

106. UG LIGTEIEGLD. ALt @eLCu Pubs o Larligsamsuien QuwiiT ereve ?

(A)  wedlen o | GG &S (B) SaTLL0& 2 L 6iLllq Send

(C) whsEs > |GG &S (D) whrmsiuliger 2 LaTUig&Eens

Which treaty concluded between Yakub Khan and Lytton ?

(A) Treaty of Bassein (B) Treaty of Gandamak ‘™~

(C) Treaty of Mangalore (D) Treaty of Srirangapatnam

s

[ Turn Over
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107.96meu(Hd FnDmis

109.

-2 62 AN TR RS G

aflé LIGUaNTL) LITGDGT amipmy) ey | eranan sl

sd L@Haafld o GG QINDA Halg UGG,

(i) weuaTIseT QgrEHurs L GmLDLILIIT QII.IU)JL](.;H[[) ,Cy)).mm.um,rﬂ'c,u RAPIGID.

(iii) @emeu QU LITEILD 10° QUL_dh(@) It 107 Que A -sCGyamssEy5a
@enLtiu L u@Haafle l-HG mn’meﬂmrma{r 3

(A) (i) w@Wb & . (B) (i), (ii) 'lm_@w 41l

(C) (i), (i) wHmd (iii) -t & (D) DIGHGHHID Bl ’

Related to corals which of the following statements is/are correct ?

(i) Corals live only in the tropical scas. .
(ii) Corals live in colonies and they are a collective. .
(iii) They are normally found between 10° North and 10° South latitudes only.

(A) (i) only correct - (B) (i) and (ii) only correct
(C) (i), (ii) and (iii) are, correct (D) All are wrong

()  veuETERISET Djia LD GOOTL GV

108.CGsemau offulen elfelasems alarés &, @qruii &loouen UamL 5605
vweruBhsS o eTarm.
(A) &THTrERTLI LIGWwTL_LD (B) &prblancLs LIGHTL_LD
(C) m&Te Ul UL LD (D) Quhmss LETLLD
In exceptions to the Law of Demand, Sir Robert Giffen deals with
(A) Normal Goods (B) Inferior Goods
(C) Consumable Goods (D) Natural Goods
QUTmHSSHIS
(a) FmG (i) pTReVSTeT
(b) eveu@flwid (ii) presageum
(c) &miefledlwenr (iii) egrrHens
(d) G&wby (iv) Cergge
GO :

(@) (b) (e) (d)
(A) (i) (1) () (1)
(B) (i) (iii) (iv) (i)
(C) (i) (v) (1) (i)
(D) (i) (i) (i1) (iv)

Match : :
(a) Shell (i) Rajasthan
(b) Lapis lazuli (ii) Nageshwar
(c) Carnelian (iii) Shortughai
(d) Copper (iv)] Lothal
Code :

(a) (b) (c) (d)
(A) (i) (i) (iv) (i)
(B) (i) (i) (iv) (i)
(C) (i) (iv) () (i)

(D) @) @) () (i)
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110. Spssam_ wepsaia & B cumonanpag semsABID PID DD :

111.

(A) &;pu;sﬁ Wwen
(C) Qsa;eﬂen Wenm

(B) uéiray apap

. (D) eugmomen (penh
Which one of the following is not the method of calculating National Income ?
(A} Product method (B)

(C)  Expenditure method (D)

Distribution method
Income method

S:l?mfo "o 8 ulnue - 11 2ar Qurpsd G Ger@ssuuLerar
SHuBsemars Qsran® sAwmer dlenLenws CoMHESH

U 1quie) - I v iquwiev - IT
(@) Csfw usenns Srtwmw s b (i) 1980
®)  vogkfenn UTgISTOY &L 1D (ii) 2010
() =DDEGRe (urgyismiyg) st Lp (i) 2002
(d)  aer (urgsmiy) s b (iv) 1986
SOS@ :
(@) (B) () (q)
(A) @) @) () (iv)
(B) (i) (i) (1) (iv)
(C) (@) () (@) ()
(D) (i) (i) (i) (iv)
Match the List - I with List - IT and choose correct answer from code gi.ven below :
List - I List - 1
(a) National Green Tribunal Act (1) 1980
(b) Biological Diversity Act (i) 2010
(c) The Environment (Protection) Act (iii) 2002
(d) Forest (Conservation) Act (iv) 1986
Code :
(a) (b) (c) (d)
(A) (i) (i) (i) (iv)
(B) (iii) (i) (i) (iv) .
(C) (i) (i) () (i)
(D) @) (@) @) (@)

[ Turn Over
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112.67g) sflwrs QummbHujeTeTsl ?
(A) LU SYPESLD > 1850
(B) Qaenenen &Cs8 smsd 3 1884
(C) yeur sreugens sepus - 1870
(D) Qserenan Ww&TMET FeLl - 1852
Which one is correctly matched ?
(A) The Bombay Association - 1850
(B) Madras Native Association - 1884
(C) Poona Sarvajanik Sabha - 1870
(D) The Madras Mahajana Sabha - 1852

113.

M sener

SGSTEID UDERISMET STAOLPEDD Siig LiuenL_uded aflastiu®sE &

vweru®sd aflenwefldsaw.

(i) &gl eubabd (ii) &&6TH GUIDEFLD
(iii) igqemid GUIDELD (iv) ew&Wg GUDSLD
GO

(A) (i), (@), (i), (iv) (B) (i), (i), (i), (iv) .

(C) (), (i), (1), (iii) (D) (i), (i), (iv), (@)

Arrange the following categories in chronological order and answer by using the
code given below : ‘ ’

(i) Khalji Dynasty (ii) Tughlagq Dynasty
(iii) Slave Dynasty (iv) Sayyid Dynasty
Code :

(A) (i), (@), (i), (iv) (B) (@), (), (iii)., (iv)
(C)  (iv), (i), (i), (iii) (D) (), (i), (iv), (i)

114.4p510g Uen &1éld Ths BETEmss ‘Shs BEFLD TGN HMPSSTT :

115.

(A) Qreved (B) ez men (C) smye (D) &mamyir
Which city was called ‘The city of Gold’ by Muhammad-bin-Quasim, ?

(A) Delhi (B) Multan (C) Kabul (D) Kanpur
Geraumeuaauniled erpgs Camarme sameanfle) 10gss @ﬁ_@;fm ?

(A). eflwmiparr (B) &afl (C©) wCrewen (D)  Q@mpBLig.upen
Which of the following planets can float on water ? :

(A)  Jupiter (B) Saturn (C) Uranus (D) Neptune

https://www.freshersnow.com S cann ed by C am S canner
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116.8 0566 _aupeny @iy, |

UL 1qu160 - . v
sl Uiiguwe) - II

(a)  @am&Gevran (i) e pimonaynad

(b)  eN&lwyir

(ii) \omrsmesr .%@;u‘rm
(c)  HA@ym (iii) erdliifé 15 -cug b5 2 AN BT

(d) Owenduen
GO :
(a) (b) (e) (d)

(iv) WGinbil euge ;ﬂmmeﬁlt_rwmn

(A) (i) (i) (iii) (iv)
(B) (v) (i) (i) (i)
(C) (i) (1) (iv) (i)
(D) (iii) (i) (@v) ()
Match the following :

List - I List - I1
(a) The Hyksos (i) Chinese Philosopher
(b) Viziers (ii) Provincial governors
(c) Ziggurats (iii) The rulers of 15'" dynasty of Egypt
(d) Mencius (iv) Pyramid shaped monuments
Code :

(a) (b) () (d)

A) () () (i) (iv)

(B) (iv) (iii) (i) ()

© () 6 (iid)
D) (i) @) (i) r
[ Turn Over
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7. Shdsan_aihap QuIrmsSs : _ :

: wiev -

L6V - LiLlg "
() oaGyrfal@se () GusuCLmiL
()  HwpeNumib (ii) géﬂug
(©)  amapyrma (iii) &eorm .
(d)  wlOU urmg (iv) umSGeomer
MuI@ :
" (@) (b) (e) (d)
(A) (i) (i) (iv) (i)
(B) (i) (i) (i) (iv)
(C) (i) (i) (iv) (iii)
D) () () (i) (v)
Match the following :

List - I List - II .
(a) . Heiroglyphic (i) Mesopotamia
(b) Cunciform (i) Egypt
(c) Hammurabi (iii) China
(d) Silk Road (iv) Babylon
Code :

(@) (b) (c) (d)
(A) (i) (i) (iv) (i)
(B) (i) (ii) (i) (iv)
(C) (i) () (iv) (iii)
(D) () (i) (i) (iv)

118.5eupren Qevamaamer ienL wirarh STEWTE:

(i)

(i)
(ii)
(iv)

W)

&Quugmes;ba;rrwu LesTum ()
QL lLupkishsTear] uemTum(®
Cuéuprisnsrer uarTum()
QeLésparar) ueTLm(h)
HEW shaTaL LeTLm()

(A) @), (i) v G

C) @), (v) LB

Identify the wrong pairs :

(i) Lower Palaeolithic Culture
(i) Middle Palaeolithic Cultyre
(iii) Upper Palaeolithic Culture
(iv) Mesolithic Culture

(V)  Neolithic Culture

(A) (i), (i) only

(€C)  (iv), (v) only

(B)
(D)

(B)
(D)

U reurd
Qpeursr
urGamir 11

Caruaf) weerGLr
Qlﬂgl_r)r'ram'r

(i) v @i

(1), (iv) LI

= Pallavaram
Nevasa

Baghor 11

- Chopanj Mando

.. Mehrgarh
(111) Only

(l'ii]> (iV) only
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ROl anehl il
P it K e ' G '
i eI Nt ) AT st ol 1l )
§les) !Ji‘f""“'ﬂ'f“ﬂcﬂ.'m'ull Iy e ' .

(A) Oh gy (1)

Delbid wttiined e
mmenciment of (e

(A) 6B

LTy () 74 il (1) 15 wmig

.‘ilulvtm al Hatianil Capttal territary iy Hhe
Conwtitation,

(15) Gl () (1) 76
120, [5)an1 il et i mansodddan )b el i itin) s i ' damesnty
M."..'l.t.nﬂ..n;j, ﬂ‘,|'||'|| |;l[,”m‘||n, "(::,,,,,4.,,,.,,,,,,,,,"|(“‘”| hn,u,./'l.,,M,u/h’/t,km,ll, J,‘M;H;[I,}I,Hh
(A) GGy Gl A, (14) (0w 160
(C) Iy mdogiren (1)) wmpanttin (st Aliangl)
In the medieval period of i hidd wet v “lmplayiment Prent” 1
solve the unemployment problem,
(A)  Feroz Shah Tughlig (1) albin
(C)  Tippa Saltun (1)) Alnuddin Khulji

121, arfis @)ancont erfiluwamen Glomanin )

(A)  copaia oo dldghl AL 1200 - 1296
(B)  1mgimenie Geanirig, - AL, 1451 - 1407
(C)  apaingy 1560 gyidand , LG 1326 - 136
(D) @i e gl < AGL 1206 - 1210

Which one is not matched correctly 7

(A) Ala-ud-din-Khilji . 1200 - 1206 A1),
(B) Bahlol Lodi 1451 - 1498 A1,
(C) Mulmmmml-hin—’l’uy,lnq - 1325 - 1361 A.D,

(D) Qutb-ud-din-Aibik - 1206 - 1210 AD,

122. Qacnanamia (5L it gdlaapg 7 B wwgib) @asciyflena 34 (iiBlisein
el ({]”)".“)l‘('f,lhll’ﬁdléil’)l(bl (2007 B mid i g dl oy b v i)
Qautiublenaentt) f)userimet Qautiyfleoe aaay dighams Qundnty sambAOs.
(A) 11°C (B) 21°C (C) 44"C (D) 24°C

If the temperature .”r Chc,m”'i (7 meter above MSL) is 34°C, calculate the
temperature of Kodaikanal (2007 meter above MSL) using normal lapse rate.

(A) 11°C (B) 21I"C (C) aa°C (D) 24°C

[ Turn Over
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123.0urméss
(a) QevGre (i)
(b) Qgiwed (i1)
(c) mmiGau (iii)
(d) regwmr (iv)

(A)
(B)
(C)
(D)

(a) (b) (e) (d)°

(iv) (i) @) (i)
(iii) (iv) (i) (i)
() (1) (@) (iv)
(iv) (i) () (i)

Match the following :

(a)
(b)
(c)
(d)

Israel (1)
Germany (i1)
Norway (1ii)

Russia (iv)

Code :

(A)
(B)

(@) (b) (e) (d)
(iv) (i) (1) (i)
(iii) (iv) (1) @)

(€ i) @) @) (@)
(D) (iv) (i) (i) (i)

Gwmr

6

0]

G0 GLIT i

QpGaL

LIGTLGVL_T&

Duma
Storting
Knesset

Bundestag

124, e%gge'sé;s&m_mgb;ﬂeb QurmsSLHNS 6TE ?

(A)

Cagdym

(B) &leor

(C)

aumevd)

(D) &suL FJTamm

uu.‘ﬂrﬂl_é;ahlq.u.l Hlevld
sfla e

Siméss 5&HS Heold
LITEn Q06U GTLD

Which of the following is not correctly matched ?

(A)
(B)
(C)
(D)

Kshetra

Khila

Vasti

Gapata Saraha

Cultivatable land
Waste land
Habitable land
Desert
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125.495593"_&)“)@'“) @Ul’l’@&m& ’

UL.U}IUGi) “ Lt wied - 11
‘:’ 3‘?’9“@“‘] (i) puag - @ - pAd
(b) - QIDgg ‘?'-d" ANprgy (i) WOagr e.d s
::: @“&“Wﬁ»‘m ureef] (i) grda - oo - bl
<N @d\)@ (iv) g,mﬂd; - @ - (‘.]1_1($ulr(.h)m'wguf)]
GDI@ : '

(@) (b) (c) (q)
(A) (i) ({) (iv) (i)
(B) (1) ({) (i) (iv)
(C) (i) (iv) (i) (i)
(D) (v)  (iil) (i) (i)
Match the following :

List - I List - II
(a) Al-Beruni (i) Tabaqat-i-Nasiri
(b) Minhaj Us Siraj (ii) Mifta Ul Futuh
(c) Ziauddin Barani (iii) Tarikh-Al-Hind

(d) Amir Khusrau (iv) Tarikh-I-Firoz Shahi

Code :
(a) (b) (c) (d)

(A) (i) (i) (iv) (i)

(B) (i) (i) (iii) (iv)

(C) (i) (iv) (i) (i)

(D) (iv) (i) (i) (i)

126. 50 pprlig el . THS GLsde  Grrorafiw pramus  Gebludsd
sarQAL@ssuuLerarg ? '
(A) esuwbuerefl (B) yBsspognt (C) wbys (D) .Qm@wamsu
In which place of TamilNadu Hoards of Roman coins have been discovered ?
(A) Pajyampalli (B) Adichanallur (C) Poompuhar (D) Kodumanal

127.56upnest Genemad sam(BH . :

(A) efléveugel @LéLm - mg@ ;3,5]’ |
(B) wumeeu UME aLaLr - Bwededid ph
- grivens, b4

f ) QrLem
(C) é&afl ellg ; o ;bﬂ

(D) &sfeps QLT .
; matched pair,
Identify the wrongly - Nile river

Ita
(A) Arcuate De - Mississipi river

(B) Birds FooI; IIZ;:lta - o river
Cuspate D¢ ¢ :
;g)) Estupafinc Delta - Seine river
[ Turn Over
D
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128.8paimd QLS sdgrarsaia eeLlanay LIGHUITZEAS BT
<
inf - /\'f’ "',"',' 1’
i) erauda dag (i) qpziogy Lo Z5005
- igrafin Canmg
(i) QuCrmav zseTs (iv) Gugradio saie
Vo 220 1ot ia
(A) (), () L @1 (B) (), (13 wiyo
(C) (iii), (iv) L@ (D) (i), (), ), ()

Which of the following Delhi Sultans repaired Qutb Minzr 7

e —
Muhzmmead bin Tugnizg

(i) Alauddin Khalji (i1)

(ili) Firuz Tughlag (iv) Ibrzhim Lodi

(A) (i), (i) only (B) (i), fiii) only

(C) (iii), (iv) only (D) ), (i), (i), (iv)
129.518bpm s & wrai’ L5389 59 PEars wWEEAT s 2zl %m0y

TOURSSIULL 5.

(A) yzECsmien (B) sioyf (C) zesmast (D) wzany

— District was first estabiished Self Help Groups for women in

TamilNadu.

(A) Pudukkottai (B) Dharmapuri (C) Thanjavur (D) Madurai
lso.ia)é;]z Comit reves eiflupsiin@sdw ez BB Glgdunransh.

( )- : -augl (B) 13 -aig (C) 14 -auz (D) 15 -auzy

:zdm 11; ut,he Country in the world to introduce NOTA.

th .
) (B) 13 (C}) 14t (D} 15"

131.8psasam_sunie BUST aTedsé GaLaomrs

G@ss Candd aar gaumran

Careys@hlug erg 2

(A) 25udfl Geos (guar)

(B) <impsr - eraCGamyr (GEES (Loa;m;rrdq,m_l;rl.b)
(€ erdllurarr Gens (ma;rn;rrrakpqmb)

(D) uré (&S YGrCsei)

Which one of the followin

period ? § 1S a wWrong option for the rock-

(A) Udayagiri Caves (Odissa)

(B) Ajanta and Ellora Caves (Mahara h
(C) Elephanta Cave (Maharashtra) L
(D) Bagh (Madhya Pradesh)
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132, QA Berw pandd IS Grgy arebn im0 (i1l aflmidsa)b.

(A)

NI winhmid

€ —e———

Sl ndmib

QigmnIet wnghmik
WDt Quianm 1y DmId

woenl 1)y

(BT DI

buemal 10 HIDLD

ailenen 10D

1) =

Change in Population B)

Change in Supply

QIAHIDITET LDMHOLD
Check out the Marginal Propensity to consume and identify @

(A) Change in ncome Change in Demand

(€)

Change in Price

Change in Price

CPS - 2

Change in Consumption

(D) Change in Income

133. L]Qﬂumll.l(ﬂ(\i) @pm)ll)lill.l@‘\‘:!}}'])l:ll-ll._l_ .__u)‘@m@w)mﬂ)mm auﬁ]qpa;uu@g,;ﬂmmrr :

(A)  smi Ml

(C) QamGruGLirev
Who introduced the systematic approach in geography ?
(B) Eratosthenes

(A) Carl Ritter
(C) Herodotus
134.QuUITmSHIS
UL 1quieD - X
(a) @Dt Sp
(b) B&H FOGen
() eum&sLLe)

(B) ery-GLrQgafiav

(D) IQEEFTETLIT QTG aptbGuimeLL

(D) Alexandar Von Humbolt

ULt uwiev - IX

(i) @ryer euredlen 1Ly
(ii) GQeudGeevad Wy

(i) Mduesr Gy

(d) @pHw A0 uau@ar phes  ([iv) foedlwibd Quemgb Gy

GO :

(a) (b) (e
(A) (i) (i) (i)
B (i) ()
(C) (iii) (iv) (ii)
(D) (i) (iii) (iv)

Match the following :

List - I

(a) Hunter Commission (i)
(b) Thugee Sleecman

(c) Bengal Tiger

(d) Father of the Indian Civil Service (iv)

Code :

(a) (b) ()
(A) (i) (i) ()
(B) (i) (i) 1
(C) (iii) (iv) (ii)
(D) (i) (i) (iv)

(d)
(iv)

(iii) (iv)

List - II
Lord Cornwallis

(ii) Lord Wellesley

(iii) Lord Ripon
Lord William Bentinck

(d)
(iv)
(iii) (iv)

https://www.freshersnow.com
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135, s Q) QuUItads

e - I

(@) Qaydrn

) Napsn

(©) QEHar oS
(d) u

SIS -

(&) (d) (e} (4
(A @) @) @) @)
(B) (@) (@v) @) ()
(€) Gv) () @) @)
(D) (i) @v) (@) (1)
Match the following :

List - I
(@) Kshetra
(b) Nishka
(¢) Krishna ayas
(d) Bali
Code :

(&) (b) (e) (d)
(A) (1) (1) () @)
(B) (i) () (i11) (1)
(C) (iv) (i) () (1)
(D). (iii) (iv) (i) (i)

)
()
(i)

(vl

(i)
(i)
(iii)
(iv)

WNTTOER

Qedy
QJ\'.}
Caarrarain N

SRS, Qauarall iaisar

List - I

Iron

Tax

Agriculture land

Gold, Silver ornament

136.8PESRTLUDNIET TESTTNMSE@HESTE Bog SrsawliGeaar Carhnelssaursd
Qrdlorpg prLmEELaD wopows CorposOssart :

SbyeonyLamrar uflFsun (i) ofs Qurmiyeria)

(iv) ueTpsgsatenoweTar QBHW FLPSTLID

(i)

(iii) Fsrrl Gfeear

(A)
(€)

(1)

(i), (i), (iv) WL

(i), (iii), (iv) wL(HWD
Due to which of the following reasons the fo
Parliamentary System ?

Familiarity with system

(iii) Separation of power

(A)
(C)

Only (i), (ii), (iv)
Only (ii), (iii), (iv)

(B)

(i), (i), (i) wC.EW

(D) Qe S@aEHID

(11)

unding fathers preferred the British

More responsibility

(iv) Heterogeneous Indian Society

(B)

Only (i), (i), (i)

(D) Al of the above
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000V O OO 73

Gl L e -

atohdnehldy ardbenaCiingh anenmadr @anii| AT TTSLE
(Al 1973 (1) 1960 (C) 1956 (D) 1965
Hovder Roads Organisation was setup in India in
(A) 1072 (1) 1960 (€) 1956 (D) 1965

pam, w i msnGamn Heanb Qandr . uGes ————
(A) o - 16 (B) 1onih - 14 (C) \omiTd - 16

Warld consumer day Is celebrated on .

(Al March - 16  (B) March - 14 (C) March-16 (D)

(D) lomig - 13

March - 13

139l n0a . JM, Rdney sauimar fHirenwo eflprInGHDETE SN TRSTTTE
@D G)enanmit,

(A) 2 (B) 5 (C) 3 (D) 1
l'nin‘l out that J,M, Keynes has introduced liquidity preference theory into
motivern,

(A) 2

(B) 5 (C) 3 (D) 1

14046 wppid Caanan aufludaldbbsl As@EuAudD QUImMLSGET &gl ?
(A)  @)apibLy GmmHLmer (B) Hessfl QuTmHLsaT
(C)  @mblindi— oM@ um(mL_ser (D) CGuHEHnIlL agad RQevena
Which one of following goods/products exempted from GST ?
(A) Iron products (B) Coal products
(C) Specified petroleum products (D) None of the above

141. flu asefipam_agen Spliugd
(A) el (D@D

(C) o HGHTETD
he Solar atmosphere is called :

The lower region of t
(A) Photosphere (B) Convective Zone
(C) Chromosphere (D)

(B) Geuliul &L&ggm 59@&] LDERTL_ LD
(D) &Crmremm

Corona

142,05, flwen L5 A5 2imAHd sramiuBLD prar
(A) mOaw 4 B) gmemaufl 3 (C) QalLibur 5 (D) wsbui 4
The Sun appears to be the closest to the earth on :
(B) January 3 (C) September 5 (D) December *

(A) July 4
[ Turn Over
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CPS -2 74
143. Sipssrgnid sppisale 6TH | eremeu aifl ?
(i) @ugwdEE Wsad SLigHwreng)
(i) ueLWEEE 50 H.b o wib eueny wred
QeLwdsdd e wird ofaNss Qe
Quelu@ésded mitiy los Geopaurs e-erarg
(B) (iii) L@
(D) (i), (ii) OO (iv) L (Kb

WeTeng)

(i1i) HlenaujLd 285M&8ns)
(iv)
(A) () wHpbd (i) LB
(C) (iv) Wb

Which of the following is/are true ?

() Troposphere is the densest layer of all.

(ii) Stratosphere is extended up to SO km.
Temperature increases with increasing altitude in Mesosphere.

(1i1)
(iv) The gravitational pull is minimal in the exosphere.
(A) (i) and (i) only (B) (iii) only
(C) (iv) only (D) (i), (i) and (iv) only
144. Epssam_cupern QUIHSSS :
UL iq 6D - I UL iq w6y - IT
(a) =eupd (i) o eteysgemm dsmfl
(b) &Srsgeugr (i) YeuemriiuFeumeriser
(c) urgy (iii) S7s gngleurser
(d) sreusgT (iv) swaipey wpmb Curi elleusmiis@sésrer <jeiést
GO :
(a) (b) (c) (d)
(A) (i) (i) (iii) (iv)
(B) (iv) (iii) (i) (i)
(C) (i) (iv) (i) (i)
(D) (i) (i) (iv) (i)
Match the following :
- :ist -1 List - IT
a vanti (i) Secret Servi artm
(b) Dirghadhvajas (ii) Keepir o?rl:l:ceozzp e
:;; Is3anu (ifi) Royal Messengers
. :arvagata (iv) Minister for Foreign Relations and War
(@) (b) (e) (d)
(A) (i) (i) (iii) (iv)
(B) (iv) (iii) (ii) (i)
(C) (i) (iv) (i) (i)
(D) (i) (i) (iv) (iii)
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145.51055002510 S5
(‘,9 ] i,g }J/Aﬂ‘ ’} BH g o ‘55 A’),‘), >
' 9527 ‘ & { 1 # v pcu
,J,—-:))J (%, lq) /)}I,ﬂ f 17 9k ,.J 8, ;))6""/"'!’)'.""' 5},)’4",’
; ’ ‘ ”~ .
‘-’b%" lea‘ ‘g{/' r”)t"‘h

‘ii P U E ’ . 2l & s de 3 « P
) B %) -2 Bupf) arien s da it LA G GYR B PR AL

Qﬂ)ﬂlﬁ;.’s {"J« i(s ﬁ/ﬁ)‘ff'"' '
(i) Zeanosar i B G whisrie
.V. C trwvry :
‘l ’ quu ";.U, l)‘71 }/ f[;' /,”’ ‘%/;I‘.'//l /f/7 5) j// ﬁ))y/f:’;' 5) /g’” L § ‘)//;)

Isl)ﬁc:);;g WL HWw (B) ‘ (i), ) Wiz (C) G), () wi b (D)
" ng the following stztements is not true 7
‘IJ Qutb-Uddin Aibak imposed Jizya on Son-Muslims for the first ti
(ii) Sultan Htutmish established % s veparate Aepsrtinent of agieuitn
Diwan-i-Amir Kohi.
(?ii) Sultan Firoz Tughlag’s established 2 separats department for slaves.
fiv) Sultan Muhzammad Bin Tughlag introduction of copper and silver g
(A) (), (i) only  (B) (), iv) only (C) (), () only (D) @), (%) only

ﬁ) /7’/) ’A;."

/,,,,,”, ﬁ; Af”' 4:;:’,. ')///)

-
-

(iiy, () el

F time 10 Indiz.
-~
<

ure, czlled

)
?n

Ao ARl

146.cumonancufl somsi udn Gungy shumbsastaimig aumures

S e JQZJ
(A)] 9Fay56-539 (B) 19Fay45-55 (C) “fiay22-27 (D) Gfiay 15-17
Under the computstion of Income Tzz, Incume from szla: ries under the sections

of :
(A) Section 56-59 (B] Section 45-55 (C) Section 22-27 (D) Section 15-17

shwrans) 24699 7

55 momm S (555 5T
pmir.
ﬁ

147.2paumih sabhmseis dmal
(i) Querss Baiswrii
eran GHILECLUGEY

}a.

iz Aeaur Ears BEUSET

v

»

(ii) swamr umpibuflwgglanss s sy CEnppeligat faguir 2, aun.
(iii) O& Qzmbsmna FLuT [ Pundisd aegsiul o,
(iv) zyFarias GEHTD. 55 54y Smpis, siu GEETD huma D Azmsssno

FL00m ENDFOT 25D
(A) (i) wmgw (iii) w_ Hw (B) (i) whmpb (iv) wlfb

(C) (i) wpmd (V) G (D) (i) wifn -
Which among the following statements is not true ? |
(i) The first Jaina Tirthankara was Risabha reffered to as Nigantha Nataputta

by Buddhist texts.
4 na tradition Rmabhd was the founder of Jainism.

(iij According t0 Jai
(iii) Most of the early « Jaina texts were written in Sanskrit language.,

v () Achastangs gutra, Sutrakritanga and Kalpasutra are the earliest Jaina texts.
(A) (i) and (i) only (B) (i) and (iv) only
(€) (iii) and (iv) only (D) (i) only

| [ Turn Over
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C BY swlpsT iz assCurz
Lan : 5?9136 Senadenid 3 TS eI ;
(A) a. @rra@- LITenES B) & E"T_’.'IT-{?;-J,

(C) eren. s38wapiss
Who led the anti-simon campaign in
TamilNadu ?

(A) C. Rajagopalachari (B) K. Kamard

(C) S. Satyamurthi (D) Vija}-‘azahavachari

b

149.5)58 w0 QuEpasLsl® gHulD YUDSEES Qo

2,e (0 :
(A) 1999 (B) 2010 (C) 2004
The naming conventions for sto
(A) 1999 (B) 2010 (C) 2004

mz"‘ o
G al

- =i
@swer B diny

szib Aammdwy

6

(D) 1932

rms that develop in the Indian Ocean begin in :

(D) 1952

150,88 Srfweewliben abs LES Csisd peemusasL! upidl em&lng ?

(D) u@d I

(D) Part II

(A) uGH XV (B) uEd XX (C) ud XX

Which part of the Constitution of India says about the election commission ?
5 (A) Part XV (B) Part XX (C) Part XXII

! N S— =
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